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The time allotted is 35 minutes.

Verbal Reasoning - Writing Task

Read the task that appears in the box below carefully and then write your essay on the essay answer

The essay should be at least 25 lines long, and should not be longer than the number of lines on the
answer sheet. If you wish to make a rough draft, use the page provided. (The draft will not be
You will not receive an additional answer sheet, nor will you be allowed to replace the one you have.

You must write the essay in one of these languages: Hebrew, English, Russian, German, Ambharic,
Italian, Hungarian, Portuguese, Dutch or Spanish.

Use a style that is consistent with academic writing. Make sure your essay is well organized and
written in clear, grammatically correct language.

Write the essay in pencil. Make sure your handwriting is legible and neat. You may use an eraser.

Note: The words appearing against a gray background are translated into several languages at the
bottom of each page.

In recent decades, as Israel's population has increased, more and more of the open spaces and
natural scenery in and around cities have become built up. Some people claim that this trend
must be stopped and open spaces preserved by instituting a complete ban on the construction of
low-rise housing in cities. They recommend that plans for single- and two-story houses in cities
no longer be approved. Instead, only plans to build high-rise projects, which can provide housing
for many people in a relatively small area, would be approved.

Do you support the recommendation to ban construction of low-rise housing in cities? Give
reasons for your answer.

English Pycckmit Portugués Deutsch Italiano

trend TEHACHLUA tendéncia Tendenz tendenza

be stopped OCTaHOBUTh brecado aufhalten va fermata

preserved COXpPaHUTb preservados erhalten andrebbero conservati
complete ban MOBCEMECTHBIN 3ampeTr | proibi¢do total totales Verbot | divieto totale
construction nocTpoiika construgio Bau costruzione

approved YTBEPKIIATUCh aprovadas genehmigt andrebbero consentiti/e
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Verbal Reasoning

This section contains 20 questions.
The time allotted is 20 minutes.

This section consists of several types of questions: analogies, critical reading and inference questions,
and reading comprehension questions. Each question is followed by four possible responses. Choose
the one which best answers the question and mark its number in the appropriate place on the answer
sheet.

Note: The words appearing against a gray background are translated into several languages
at the bottom of the page.

Analogies (Questions 1-5)

Each of the following questions contains a pair of words in bold type. Find the relationship between
the meanings of these two words, and then choose from among the possible responses the one in which
the relationship between the two words is most similar to the relationship you have found.

Note: The order of the words in each pair is significant.
1. perfect : flaw -

(1) deaf : ear

(2) sour : sugar

(3) uprooted : roots
(4) empty : contents

2. to be contented : enough -

(1) to become serious : serious
(2) to exaggerate : excessive
(3) to prefer : preferable

(4) to promise : is promised

English Pycckuit Portugués Deutsch Italiano

flaw nedext falha Makel difetto

deaf Ty X0l surdo taub sordo

sour KHCITBIN azedo sauer aspro

uprooted BBIKOPYEBaHHBII desarraigado entwurzelt sradicato
contents COZIEPI)KUMOE conteado Inhalt contenuto

to be contented JIOBOJILCTBOBATHCS ficar satisfeito sich begniigen essere soddisfatto
to exaggerate MIPEyBEITHYHIT exagerar iibertreiben esagerare
excessive MIPEYyBEINICHHO excessivo unmifig esagerato
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Verbal Reasoning - First Section -6- Spring 2019
3. capsule : syringe -
(1) page : book
(2) hammer : saw
(3) opening : aperture
(4) match : lighter
4. note : symphony -
(1) digit : mathematics
(2) digit : number
(3) letter : punctuation
(4) letter : novel
S. wrestled : wrestling match -
(1) officiated at a wedding : wedding
(2) consulted : consultation
(3) met with : meeting
(4) chased : chase
English Pycckuit Portugués Deutsch Italiano
capsule TabneTka capsula Kapsel capsula
syringe TITTPHI] seringa Ampulle siringa
saw nuia serrote Sige sega
aperture (hoprouxa abertura Schlitz pertugio
lighter 3a)KHATAJTKa isqueiro Feuerzeug accendino
note HOTa nota Note nota
digit nugpa algarismo Ziffer cifra
letter OykBa letra Buchstabe lettera
punctuation ITyHKTYaIHst pontuagio Satzzeichen interpunzione
wrestled Ooporcs engalfinhou-se ringen lottare, lotto
officiated at a oficiou um . celebrare un
. KEHUIT verheiraten . .
wedding casamento matrimonio
chase TIpeciie0BaT perseguigao Verfolgungsjagd inseguimento
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/ Critical Reading and Inference Questions (Questions 6-14)

6. Auroras are formed when high-energy particles penetrate a planet's atmosphere and collide with
atoms of gas close to its magnetic poles. This collision produces light which usually has a
greenish color. In contrast to the auroras which appear above Earth, Jupiter's auroras are very
strong and never disappear. This is because Jupiter has a strong magnetic field that constantly
attracts particles.

/ According to the paragraph, which of the following statements about Earth is not correct?

(1) Its auroras are weak compared to Jupiter's.

(2) High-energy particles can penetrate its atmosphere.
(3) It has a stronger magnetic field than Jupiter.

(4) Its auroras do not appear constantly.

/ 7. Discussing the vision for the modern city presented by architect Le Corbusier in 1922, urban
planner Jane Jacobs wrote: "His city is like a wonderful mechanical toy, and its design — as a
work of architecture — is simple and harmonious, very organized and very clear." However, she
claims that with regard to the actual functioning of a city, Le Corbusier's urban plan "tells
nothing but lies". It does not provide a solution for issues related to the management of life in a
city, and is nothing but an imaginary vision drawn up by someone who does not understand how

/ actual cities work.

Which of the following best presents Jacobs' opinion of Le Corbusier?

(1) The impressive features of the city he planned outweigh its shortcomings.

(2) His plan was architecturally impressive, but a city built according to it would not be able to
function properly.

(3) At first glance, his plan appeared organized and clear, but in practice it was not so at all.

(4) Since he did not understand how actual cities work, his design was not sufficiently
organized and clear.

/ English Pycckmii Portugués Deutsch Italiano

Auroras [onsiproe cusiane | aurora boreal Nordlicht aurora polare, boreale
particles YaCTHIIBI particulas Teilchen particelle

penetrate MPOHHUKAIOT penetram eindringen penetrano

collide CTaJIKUBAIOTCS colidem zusammenstoBen entrano in collisione
vision BUJICHHE visdo Wunschbild visione

design TU3aitH design Gestaltung progettazione

clear SICHBIN claro klar chiaro/a

issues npobneMsl questoes Belange questioni

outweigh TIePEBEITNBAIOT superam iiberwiegen prevalgono (su)
shortcomings | HenocTaTku falhas Nachteile difetti
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8. Erez boasted to Gadi that he could determine the number of leaves on any bush just by glancing
at it. To prove his point, he pointed to a nearby bush and declared that it had exactly 373 leaves.
Unconvinced, Gadi wanted to put Erez's statement to the test. However, an exact verification of
the statement would have involved counting all the leaves on the bush, a tiring and lengthy
process. So Gadi devised a far simpler test to verify the statement.

Which of the following is most likely to be the test that Gadi devised?
/ (1) Erez will state how many leaves he thinks there are on one half of the bush, and how many
leaves he thinks there are on the other half. Gadi will check if these two numbers add up to
373.
(2) Gadi will pick a few leaves off the bush, without telling Erez how many he has picked.
Erez will state how many leaves are on the bush after the leaves have been picked. Then
the two of them will compare the number of leaves that were picked with the difference
between the two numbers stated by Erez.
(3) A passerby will also state how many leaves he thinks there are on the bush. Gadi will
compare the number stated by Erez with the number stated by the passerby.
(4) Erez will state how many leaves he thinks there are on a similar-looking bush. Gadi will
count the number of leaves on that bush and compare it with the number stated by Erez.
/ English Pycckuit Portugués Deutsch Italiano
boasted XBacTaj vangloriou-se sich briisten si vantava
determine y3HaTh determinar feststellen determinare
bush KyCT arbusto Strauch cespuglio
Unconvinced YCOMHHIICS ndo convencido zweifelhaft non convinto
verification TIO/ITBEPIKACHIE verificacao Nachpriifung verifica
tiring YTOMUTEIbHBIN cansativa miithsam estenuante
devised TIPEIUTOKIIT idealizou sich ausdenken escogitod
state Ha30BeT determinara angeben indichera
pick COpBeT apanhar abpfliicken cogliera
passerby IIPOXOKUH transeunte Passant passante
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9. The following two paragraphs are excerpts from a book which analyzes disagreements and
discussions:
a. "In most cases, disagreements focus on one main idea. However, our world view is
structured like a network — each idea is interconnected with a vast number of other ideas —
and this network does not allow for any single idea to change drastically."
b. "Each side in a discussion expects the opposing side to be open to accepting its arguments.
But at the same time, each side is afraid to admit to having made a mistake, which would
be considered a sign of weakness. Thus, discussions often turn into sparring matches in
which the main objective is not to understand the other person's argument, but rather to be
entrenched in one's own position."
Which of the following issues is addressed in both paragraphs?
(1) How to prevent the sides in a discussion from becoming entrenched in their positions and
enable them to reach agreement.
(2) Why it is important to be open to the arguments of the other side in a discussion.
(3) How the way in which we make connections between ideas influences our ability to hold
productive discussions.
(4) Why disagreements and discussions only rarely end with one side being convinced of the
other side's position.
English Pyccknit Portugués Deutsch Italiano
disagreements CIIOPBI divergéncias Meinungs- litigi
& P g verschiedenheiten &
network CeTh rede vernetzt ¢ una rete
interconnected B3alMOCBsI3aHa interconectadas verbunden connesso/a
opposing side OTIITOHEHTHI lado oposto Gegenseite il proprio interlocutore
weakness c1abocTh fraqueza Schwiche debolezza
sparring matches | mose 60s arena Boxring luogo di competizione
entrenched HACTOSTh entrincheirado verschanzt arroccarsi
productive NIPOJYKTUBHBIE produtivas fruchtbar produttivi
rarely penko raramente selten raramente
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The following instructions relate to questions 10-12.
In each question, there is a passage with one or several missing parts. Choose the most appropriate
response for completing the passage.

10. If the ability to draw conclusions
doves' ability to draw conclusions should have been

rats, doves limitations on the storage of information in their memory.

(1) were / inferior / relative to / have few
(2) were not / inferior / like / also have
(3) were / superior / relative to / have few
(4) were not / superior / like / have few

dependent solely on the ability to store information, then
to that of rats. This is because,

English Pyccknit Portugués Deutsch Italiano
to draw . ~ . . .
. JIeJaTh BEIBOIBI tirar conclusoes Schliisse ziehen trarre conclusioni
conclusions
armazenar, . .
to store, storage | XpaHUTH, XpaHCHUE ansammeln 1mmagazzinare
armazenamento
doves rony0on da pomba Taube colomba, piccione
rat KpbIca ratazana Ratte ratto/i
limitations OTpaHUYEeHUS limitacdes Grenzen limiti

relative to

10 CPABHCHHIO

relativamente a

im Vergleich zu

relativamente a...

The test or any part of it may not be taught, copied or distributed in any form or by any means without written permission from the National
Institute for Testing and Evaluation.
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11.  Since Zviel was appointed director-general of the Ministry of Finance, his policies have been
the economic program he proposed prior to taking up his new position. Therefore,
the Minister of Finance, who appointed Zviel to the position his declarations regarding his
economic program, announced today that she , since she is known as one of the most
figures in our national politics.
(1) derived from / it is not surprising that / based on his promise that he would go back on / is
very satisfied with his performance / consistent
(2) derived from /I wonder why / despite her reservations about / will begin looking for
someone to replace him as soon as possible / unpredictable
(3) inconsistent with / I wonder why / based on / unreservedly supports his policies /
unpredictable
(4) inconsistent with / it is not surprising that / because of / is not satisfied with his
performance / consistent
12. in Spain, where work permits are issued only to foreign workers who , in Belgium
. This fact is one of the reasons why in Belgium, most of the unemployed are people
and whose jobs have been taken by foreign workers.
(1) Unlike / lack professional training / foreign workers who are professionals are a tiny
minority of the total number of foreign workers / who lack professional training
(2) Unlike / are educated and proficient / only foreign workers who are not professionals are
eligible for a work permit / who lack professional training
(3) Like / are educated and skilled / only foreign workers who are professionals are eligible for
a work permit / who lack professional training
(4) As/lack professional training / foreign workers who are not professionals are a tiny
minority / who are professional workers
English Pyccxuit Portugués Deutsch Italiano
was appointed | ObUT Ha3HAa4YEH foi nomeado wurde ernannt fu nominato
policies MTOJINTHKA politica Politik politiche
derived from | 6a3upyercs derivavam de folgen aus derivano da
consistent MOCJIEIOBATENbHBINA consistente bestindig consistenti
reservations HeonmoOpeHue reservas Vorbehalte riserve
unpredictable | mepeMeHUMBBIN imprevisivel unvoraussagbar imprevedibile/i
inconsistent HE COBIAJacT inconsistente unbestindig inconsistente
unreservedly 0e30roBOpOYHO sem reservas uneingeschrinkt senza riserve
work permits | pabodre BU3bI licencas de trabalho | Arbeitserlaubnis permessi di lavoro
to issue BbIJIaeT emite verliehen concedere
unemployed 0e3paboTHBIC desempregados arbeitslos disoccupati
proficient OTIBITHBIE competentes ausgebildet abili, competenti
eligible [IOJIy4arOT IIPaBO elegiveis Anspruch haben auf | ricevono
minority MEHBIITHHCTBO minoria Minderheit minoranza

Copyright © by the National Institute for Testing and Evaluation. All rights reserved.
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at a fixed time.
(2) The medication given to the patients had less effect than expected.
(3) Taking medication at a particular time is not necessarily more effective than taking it at
another time.
(4) Most people do not strictly follow the exact instructions given in the patient information

13. A study found that patients who took medication to reduce their blood lipids at a fixed time of
the day had lower blood lipid levels than patients who did not take this medication at a fixed
time of the day. As a result, the medication's manufacturer issued guidelines that the medication
should be taken at a fixed time of the day. A doctor argued that this instruction was unjustified,
basing his argument on a certain piece of information.

Which of the following is most likely to be the information on which the doctor based his
argument?

(1) People who are careful about their health and lead a healthy lifestyle take their medication

/ leaflet.

14.  According to Water Authority regulations in the 1960s, any pool could be used as a swimming
pool, as long as a purification device approved by the Water Authority was installed. Seawater
pools, as well as reservoir pools that were at least three meters deep and were used for irrigation,
were exempt even from this directive.

Of the following pools, which one definitely could have been used as a swimming pool?

(1) areservoir pool used for irrigation

(2) aseawater pool

(3) apool which was more than three meters deep

/ (4) apool that had a purification device installed
English Pyccknit Portugués Deutsch Italiano
to reduce YMEHbIIATh para reduzir verringern per ridurre
lipids KUPBI lipidios Fettwerte lipidi, grassi
guidelines MHCTPYKLUU instrugdes Anweisungen istruzione/i
unjustified HeoTpaB/iaHa injustificavel unberechtigt ingiustificata
regulations yKazaHus regulamentos Bestimmungen normative
purification OUYHCTHUTENIBHOE dispositivo de 2 impianto di
. - ~ . Kldranlage .

device COOpYXKEHHE purificacdo da dgua depurazione
installed YCTaHOBJIEHO instalado eingebaut installato
reservoir pools | BOAHbBIE pe3epByapbl reservatorios de dgua | Wasser-Reservoir | bacini di raccolta
irrigation WppUTaIs, OB irrigagdo Bewisserung irrigazione
exempt OCBOOOXKICHBI isentas freigestellt von esentate/i
directive yCIIOBUE diretriz Verordnung direttiva
definitely OTIPEIICIICHHO com toda certeza mit Sicherheit con certezza

Copyright © by the National Institute for Testing and Evaluation. All rights reserved.
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Reading Comprehension (Questions 15-20)

Read the text below carefully, and answer the questions that follow.

(1) Each branch of mathematics is based on a set of definitions and axioms. These are used to

prove all the theorems included in this branch. For example, Euclidean geometry is based on

five axioms.

The test of any branch of mathematics is its consistency, that is, the absence of any

5 contradiction among the different theorems of the branch. For example, Euclid's fifth axiom
states: given any straight line and a point not on it, there exists exactly one parallel line that
passes through that point. This axiom is used to prove that the sum of the angles of a triangle is
180 degrees. Therefore, if Euclidean geometry had a theorem that the sum of the angles of a
triangle were something other than 180 degrees, this would be considered an internal

(10)  contradiction. However, since geometry is a branch of mathematics that attempts to describe
the physical world, it must also be subjected to another test, in addition to the consistency test:
it must also accurately describe what happens in the world. For example, if we successfully
constructed a triangle, the sum of whose angles were not 180 degrees, Euclidean geometry
could not be considered an accurate description of objects in the real world. Since each

(15)  geometric theorem is necessarily derived from the definitions and axioms on which geometry is
based, the accuracy, as well as the consistency, of geometry depend on the accuracy and
consistency of these definitions and axioms.

In the eighteenth century, many mathematicians felt that Euclid's fifth axiom was different
from the other four axioms: whereas they are simple, the fifth axiom is relatively complex and,
(20)  in fact, mathematicians believed it could be proven using the other four axioms. The German

English Pycckuit Portugués Deutsch Italiano
theorems TEOPEMBI teoremas Lehrsitze teoremi
consistency OCJIEOBATEIILHOCTD consisténcia Konsistenz consistenza
absence OTCYTCTBHE auséncia keine assenza
contradiction MPOTUBOPEUNE contradi¢cdo Widerspriiche contraddizione
angles YTIIBI angulos Winkel angoli

internal BHYTPECHHMI interna inner interna

I;ci esslibjected to T — geass;ar por um iiberpriift werden (s;s)ztlt;)lléosto/a ad
complex CIIOKHAS complexo komplex complesso/a

Copyright © by the National Institute for Testing and Evaluation. All rights reserved.
The test or any part of it may not be taught, copied or distributed in any form or by any means without written permission from the National
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mathematician Riemann tried to prove the fifth axiom using the method of proof by

contradiction: if the fifth axiom is indeed derived from the other four, then assuming the
opposite of the fifth axiom would lead to a contradiction with the other four. Riemann replaced
the fifth axiom with an axiom stating that given any straight line and a point not on it, no line

(25)  parallel to the given line can pass through that point. He then tried to prove theorems using this
axiom and the other four axioms. To his surprise, the result was the opposite of what he had
intended. Riemann showed that the set of theorems obtained in this manner is as consistent as
Euclidean geometry. In other words, if a contradiction had been found between the fifth axiom
as he formulated it and the other four axioms, this would have proven that there is also a

(30)  contradiction between them and Euclid's fifth axiom. Therefore, not only was Riemann

unsuccessful in proving Euclid's fifth axiom, he actually showed that it was impossible to do this.

From Riemannian geometry it can be deduced that the sum of the angles in a triangle is
greater than 180 degrees and increases as the sides of the triangle become longer. Since the two
geometries describe the world in different ways, in theory the test of correctness could have

(35) been used to determine which one of the two is correct. However, in practice, the differences

between the two geometries were not very great. As long as triangles with an area of a few
hundred square kilometers were being studied, the differences between the predictions of the
two geometries were too small to be measured. Only when far greater ranges were involved, for

example distances between stars, could the differences be discerned. Since, in Riemann's
(40)  time, the technology to take measurements of these distances did not exist, it was not possible to
determine which of the two geometries was the correct one. This situation changed in the

twentieth century with the development of technology that made it possible to measure the
angles between stars. The result was consistent with Riemannian geometry but not with
Euclidean geometry. Nevertheless, since the differences between how each geometry describes

(45)  the world are indiscernible on a small scale, in many cases, Euclidean geometry is preferred
because it is simpler.

English Pyccknit Portugués Deutsch Italiano
proof by JI0Ka3aTeJIbCTBO OT prova por Erweis des prova per
contradiction MIPOTHUBHOTO contradi¢do Gegenteils contraddizione
derived cienyer deriva abgeleitet aus derivata
assumption MIPEAIONOKECHHE suposi¢ao Annahme assunto
to be . . . . N
HE CMOT foi mal sucedido |es gelang ihm nicht | non riusci
unsuccessful
deduced ciemyet deduzido abgeleitet si puo dedurre
ranges MacIITaobl extensoes Bereiche ambiti, campi
discerned 3aMETHBI discernidas wahrgenommen essere percepiti/e
. . . determinare con
to determine OIIPEJEIINUTD determinar entscheiden
certezza
indiscernible HEepa3InIIMBbI indistinguiveis ununterscheidbar non distinguibili

small scale

B MaJbIX MacirTadbax

pequena escala

in kleinem Rahmen

in piccola scala
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Questions

15.  According to lines 1-3, which of the following statements is correct?

(1) Euclidean geometry includes axioms, but not theorems.

(2) Each branch of mathematics is based on five axioms.

(3) The theorems in each branch of mathematics are used to prove the axioms that this branch
is based on.

(4) All the theorems of Euclidean geometry are proven using five axioms.

16.  Which of the following situations would cause a branch of mathematics to fail the additional
test mentioned in line 117

(1) a contradiction between one of the axioms on which the branch is based, and what is
actually found in the world

(2) a contradiction between an axiom on which the branch is based, and a theorem included in
that branch

(3) acontradiction between two phenomena found in the physical world

(4) a contradiction between two axioms on which the branch is based

17.  According to the second paragraph, the statement that the sum of the angles of a triangle is 180
degrees -

(1) is an axiom of Euclidean geometry

(2) causes Euclidean geometry to fail the consistency test

(3) is derived from the first four Euclidean axioms

(4) is a theorem of Euclidean geometry that does not lead to an internal contradiction

18. 1Inline 31, "this" refers to -

(1) the set of theorems Riemann obtained
(2) disproving Euclidean geometry

(3) proving the fifth axiom

(4) the consistency of Riemannian geometry

b N e N N S N NN
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19.  According to the third paragraph, which of the following statements is correct?

(1) In the eighteenth century, many mathematicians felt that Euclid's fifth axiom contradicts the
first four axioms.

(2) Riemann showed that the mathematicians mentioned in line 20 were mistaken.

(3) In the eighteenth century, many mathematicians felt that each of Euclid's five axioms is
derived from the other four.

(4) Riemann created a new set of theorems, which does not contradict the theorems of
Euclidean geometry.

20. Why was it "not possible to determine which of the two geometries was the correct one"
(lines 40-41)?

(1) because it was not possible to take measurements in ranges in which the predictions would
result in discernible differences

(2) because each of the two geometries is consistent with itself

(3) because, with the existing technology of the time, both geometries seemed to be incorrect

(4) because the two geometries contradict each other

b N e N N N N
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Verbal Reasoning

This section contains 20 questions.
The time allotted is 20 minutes.

This section consists of several types of questions: analogies, critical reading and inference questions,
and reading comprehension questions. Each question is followed by four possible responses. Choose
the one which best answers the question and mark its number in the appropriate place on the answer
sheet.

Note: The words appearing against a gray background are translated into several languages
at the bottom of the page.

Analogies (Questions 1-4)

Each of the following questions contains a pair of words in bold type. Find the relationship between
the meanings of these two words, and then choose from among the possible responses the one in which
the relationship between the two words is most similar to the relationship you have found.

Note: The order of the words in each pair is significant.
1. to forgive : unforgivable -

(1) to overpower : unbeatable
(2) to choose : unsuitable

(3) to guess : unknown

(4) to happen : inevitable

English Pyccknit Portugués Deutsch Italiano

to forgive HU3BUHUTH perdoar verzeihen perdonare
to overpower OIIOJICTh superar iiberwinden prevalere

unbeatable HenoOeANMBIH invencivel unschlagbar imbattibile
unsuitable HE0CTOWHBIN inadequado ungeeignet inadeguato
to guess JIOTaaThCs adivinhar raten indovinare
inevitable HEN30E)KHBIN inevitavel unvermeidlich inevitabile
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2. flooring installer : to sweep -
(1) hairdresser : to wash hair
(2) tailor : to launder
(3) chef : to wash the dishes
(4) medic : to disinfect
3. to put pressure on : sweated -
(1) to be blinded : blinked
(2) to make others laugh : laughed
(3) to annoy : was angry
(4) to bore : yawned
4. complaint : satisfaction -
(1) ridicule : respect
(2) frustration : contentment
(3) nuisance : tranquility
(4) comfort : grief
English Pycckmi Portugués Deutsch Italiano
flooring installer | ykirag9uk moJos Laicslcr)lslhador de Plattenleger posatore (di pavimento)
to sweep MoAMeTa varrer kehren spazzare
hairdresser apuKMaxep cabeleireiro Friseur parrucchiere
tailor MOPTHOM alfaiate Schneider sarto
to launder cTupal lavar roupa waschen fare il bucato
to wash the MBLI TIOC lavar louga Geschirr lavare i piatti
dishes vy ¢ spiilen p
to disinfect JIe3uHUIUpPOBAT desinfetar desinfizieren disinfettare
sweated IOTeN suou schwitzen sudava
to be blinded OBLT OCIeTIeH ser cegado geblendet essere accecato
blinked Moprai piscou zwinkern batter le ciglia
yawned 3eBal bocejou gihnen sbadigliava
complaint xanoba queixa Beschwerde reclamo
ridicule HacMellKa zombaria Spott schernire
frustration Jocana frustracao Frustration frustrazione
contentment YIOBIIETBOPEHHUE contentamento Zufriedenheit | soddisfazione
nuisance rmoMexa incémodo Plage fastidio
comfort yA00CTBO consolo Trost consolazione, conforto
Copyright © by the National Institute for Testing and Evaluation. All rights reserved.

The test or any part of it may not be taught, copied or distributed in any form or by any means without written permission from the National
Institute for Testing and Evaluation.

e N e N N N S N



2019 2'AN TVID

-31 - Y 719 - N'71'7'n na'wn

-NOND: ¥ W2

99N : 190 (1)
DD : VYN (2)
TN : NIV (3)

NN YN (4)

-y ynen L3

NDSH : PNNON (1)
PNN NN (2)
DYI ™I (3)
P DNYY  (4)

- P8I MYV : mbae .4

T 0 (1)
PO : 91N (2)
oY TI0N (3)
WX M (4)

Magyar Nederlands AICE Espaiiol 93y
burkolo vloerlegger POAN ThA AT7M4 g?slgsaldosador de 937
seper vegen mdal barrer NOND
fodrasz kapper ATC Anthhe peluquero 99D
szabo kleermaker AN 04 sastre o”N
kimos wassen Al AmA lavar la ropa o)
elmosogat afwassen W7 Amn lavar la vajilla tan|
fertotlenit desinfecteren had +1POET has desinfectar NON
izzadt zweette hANo- transpir6 W7
elvakitott verblind worden | 799+ +a@- encandilado MMMNON
pislogott knipperde %GLSET ACINN pestaiiar NYANSal
asitott gaapte A1) bostez6 P
panasz klacht nerr queja mbp
kigunyol spot aqnd g burla N9
csalodottsag frustratie avqPpp frustracion 9170n
elégedettseg voldoening achr satisfaccion P90
kellemetlenség, nyiig | hinder (S g1 perturbacion TION
vigasztalas troost ey consuelo 0)

b e N N e NN

(1”y) N>IYN71I NII'NAY XX T2IN7 NNINY NI '7D ©

.NDIYN7I NII'NA7 'XIRN TOINNN ANDA YR K72 - NIND D770 IX D710 = NTN77 IX JYXNKR 7021 NIX 702 NIN0D D'YO{7 IN 1T NN Y'ONT7 IR 7NYn7 'R



Verbal Reasoning - Second Section -32- Spring 2019

Critical Reading and Inference Questions (Questions 5-14)

S. At the beginning of the modern era, the idea that the human body is like a machine was
widespread in the Western world. This perception of the body also influenced the development
of medicine. Just as we tend not to intervene in a machine's functioning as long as it is working
properly, so too physicians and researchers were not interested in the healthy body, and
examined the human body mainly when something did not function properly or had "broken
down". So, in fact, medicine developed from the study of sick people.

Based on the above paragraph, medicine developed from the study of sick people -

(1) because physicians and researchers learned about the healthy body by observing machines,
and only diseases forced them to examine an actual human body

(2) because doctors assumed that just as machines tend to break down, so too the human body
cannot always be healthy

(3) because comparing the human body to a machine was a mistake and caused many mishaps
when trying to heal the body

(4) because medical knowledge is acquired by examining various diseases and not by
observing healthy people

English Pycckuit Portugués Deutsch Italiano
widespread pactpocTpaHeHo difundida weit verbreitet | diffusa
perception NIPEACTABICHUE percepgao Auffassung percezione
intervene BMEIIHBAEMCS intervir eingreifen in intervenire
observing HaOroIas observacao beobachten osservando
assumed ojarajim assumiam annehmen presupponevano
to break down CKJIOHHBI K ITOJIOMKaM | quebrar kaputtgehen a guastarsi
comparing ynonoOneHue comparar vergleichen paragonare
mishaps TTOJIOMOK avarias Missgeschicke | disguidi
acquired pUOOpETAIUCH adquirido erworben acquisita/o
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6. Two findings emerged from a study which examined how readers are influenced by the font
used in a printed text:
- People who read texts printed in a difficult-to-read font remembered them better than
people who read similar texts printed in an easy-to-read font.

- People who read instructions printed in an easy-to-read font were more willing to follow
the instructions than people who read the same instructions in a difficult-to-read font.
Based on these findings, the researchers drew up a number of recommendations. Which of the

following is least likely to be one of these recommendations?

(1) Signs for public transportation, such as "Do not put your feet on the seats" should be
printed in an easy-to-read font.

(2) The worse a person's memory is, the more important it is for him to make sure to read texts
printed in an easy-to-read font.

(3) The font used for a particular text should be chosen according to the objective the text is
meant to achieve.

(4) Actors who want to memorize a text should read it in a difficult-to-read font.

/ English Pyccknit Portugués Deutsch Italiano
emerged BBISIBUIIO surgiram ergaben sich emergono
font mpudT (HoHT) fonte Schriftgrad carattere tipografico
recommendations | peKOMeHIaIui recomendagdes Empfehlungen raccomandazioni
objective 115313 objetivo Ziel scopo
memorize BBIyYNUTb HAU3YCTh memorizar auswendig lernen memorizzare
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7. People sometimes estimate the prevalence of a phenomenon or the probability of an event
happening based on how easily examples or events come to mind. For example, a person is
likely to estimate the risk of a middle-aged person having a heart attack by asking himself:
"How hard is it for me to remember similar incidents among people I know?"

Which of the following could most likely be an additional example of this statement?

(1) Physicians generally assume that the patients they examine have common diseases even if
they themselves have come across many patients who have rare diseases.

(2) People assume that there are more words beginning with the letter "c" than there are ending
with the letter "c", simply because it is easier to think of words beginning with a certain
letter than of words ending with it.

(3) People assume that political parties that do poorly in pre-election polls, will indeed get few
votes in the actual elections.

(4) People assume that animals that are more commonly found in nature give birth to more
offspring in each litter than do animals that are less commonly found in nature.

English Pycckmii Portugués Deutsch Italiano

. estimam, . .
estimate, assume | OLICHUBAIOT (ein)schitzen valutare
assumem

prevalence pacnpocTpaHeHHOCTh | prevaléncia Haufigkeit prevalenza

probability BEPOSATHOCTH probabilidade Wahrscheinlichkeit | probabilita

risk puck risco Risiko rischio

come across CTaJIKUBAIIUCh depararam-se com | begegnen si son trovati di fronte

rare penKuMu raros selten rare

polls Ha NPE/IBLIOOPHAIX pesquisas Umfragen sondaggi
orpocax eleitorais

commonly pacmpocTpaHeHHBIE | comuns hiufiger diffusi

offspring JIeTeHbIIIeH descendentes Nachkommenschaft | prole

litter 38 O/lUH a3 (B O1HOM ninhada Wurf figliata

ITOMETE)
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8. The following paragraph appeared in an article: "Most of our possessions, from pens and
clothes to cabinets and cars, are mass-produced: there are innumerable duplicates of each item,
all of them completely identical. The production line has given rise to a new form of self-
expression: many people express their personality and taste not by means of unique and original
items but by combining standard items in a distinctive and personal way."

Which of the following best exemplifies the new form of self-expression?

(1) A person who is designing his living room selects the items of furniture he likes from the
catalogues of several furniture manufacturers.

(2) A person who buys a car from a showroom chooses the car with the brightest and most
unusual color.

(3) A person who wants to add a personal touch to his bedroom hangs up pictures that he
himself painted.

(4) A person who buys a standard sofa from a well-known company has it re-upholstered with
a distinctive piece of material.

9. Every house in the Givon neighborhood is made of either red bricks or white bricks and is either
one or two stories high.

There are three houses on Carmit Street in the Givon neighborhood. It is known that of these

three:

- only one of them is made of red bricks.

- no two houses are identical in both brick color and number of stories.

Which of the following is not possible?

(1) The only two-story house is made of white bricks.

(2) The only one-story house is the house made of red bricks.

(3) The house made of red bricks is a one-story house.

(4) One of the houses made of white bricks is a one-story house.
English Pyccknit Portugués Deutsch Italiano
mass-produced MACeoBoe produgao em Massen-Produzient | prodotti in massa

HPOU3BOICTBO massa
innumerable HEUCUYHCIUMOE indmeros unzihlig innumerevoli
duplicates ONM3HELOB irmdos-gémeos Kopien duplicati
personality AHINBUIYATEHOCTD personalidade Personlichkeit personalita
combining coyeTaHue combinando Kombination unendo
distinctive YHHUKQJIBHOE distinto besonders particolare
personal touch WHIBHAY AL HBIH toque pessoal personliche Note tocco personale
OTTEHOK

re-upholstered otzaenarb (00UTb) mudou o estofado | neu polstern ri-tappezzare
bricks KAPITAIH tijolos Ziegel mattoni
identical HUJICHTUYHBIX idénticas vollig gleich identiche
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The following instructions relate to questions 10-12.
In each question, there is a passage with one or several missing parts. Choose the most appropriate
response for completing the passage.

10.  To open the safe in the museum without causing the alarm to go off, you must first disable the
alarm in the lobby, and then quickly, within ten seconds, disable the general alarm as well.
However, that is not all: Before opening the safe, you must push down the red switch and pull
up the white one, and only then will you be able to insert the key and open it. Therefore,

(1) itis not surprising that the alarm sounded when Yitzhak wanted to open the safe, because
he did not pull up the white switch before he inserted the key

(2) itis surprising that Yitzhak, who did not pull up the red switch before he inserted the key,
did not cause the alarm to go off

(3) itis not surprising that Yitzhak opened the safe without causing the alarm to go off, because
he disabled the general alarm before disabling the alarm in the lobby

(4) itis surprising that the alarm sounded when Yitzhak tried to open the safe, because he
inserted the key before he pulled down the red switch and pushed up the white one

11.  When I realized that my art teacher does not
attributing

my paintings to

students, I understood that I

in

(1) hesitate to praise even her worst / had been mistaken / the praise she lavished on / her sweet
nature rather than to my talent

(2) criticize anyone except her worst / had not been correct / her criticism of / their poor quality

(3) hesitate to praise even her worst / might not have been mistaken / the praise she lavished

b N e N N N N

on / their high quality
(4) refrain from criticizing even her best / had not necessarily been correct / her criticism of /

their poor quality
English Pycckuit Portugués Deutsch Italiano
safe cerd cofre Safe cassaforte
alarm CUTHAJIU3aLUs alarme Alarmanlage allarme
to go off MIPUBOJNTH B IEUCTBUE | ativar losgehen attivare
disable HEHTpaNIn30BaTh desativar ausschalten disattivare
lobby 10661 entrada Vorraum ingresso
switch BEIKJTIOUATEITh interruptor Hebel interruttore
to praise XBaJINTh elogiar loben lodare
lavished on ajgpecoBala cobria de i‘)jvl;)fglsié}?iij?te ¢ hatte che aveva profuso
criticize KPUTHKYET critica kritisieren critica
cinien e[t aen | Siene 6
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(1) are not/ not surprising / believes / will not
(2) are/ astonishing / disagrees with the claim / will not
(3) are/not surprising / believes / will not

(4) are not /astonishing / does not believe / will

12. The astronomer Talmon, who believes in extraterrestrial life, claims that the enormous distances
between the stars ______ the main obstacle preventing meetings with extraterrestrial beings.

Therefore, itis ____ thathe _____ that building spaceships capable of traveling greater

distances than existing spaceships are capable of

discovering extraterrestrial organisms on other stars.

significantly increase the chances of

b N e N N N N

13. Joseph is married to Rebecca, and he has one sister-in-law. Which of the following is not
possible?
(1) Joseph has only sisters, and Rebecca has one unmarried sister.
(2) Joseph has only sisters, and none of them is married. Rebecca has only brothers, and none
of them is married.
(3) Joseph has two brothers, and one of them is married. Rebecca has only one brother.
(4) Joseph has one brother. Rebecca is an only daughter.
English Pycckuit Portugués Deutsch Italiano
enormous OTPOMHBIE enormes riesig enormi
obstacle MPENATCTBUE obstdculo Hindernis ostacolo
beings CYIIIECTBAMH seres Wesen creature
spaceships KOCMHUECKHEe Kopaliu | naves espaciais Raumschiff astronavi
astonishing CTPaHHO ¢é surpreendente erstaunlich sorprendenti
disagrees with He pazzenser MHeHne | discorda de widerspricht ¢ in disaccordo
sister-in-law CBOSTUCHUIIA/30JI0BKA cunhada Schwigerin cognata
unmarried He3aMY>KHAA solteira unverheiratet nubile
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Which of the following is not implied by the text?

Frans de Waal's research shows that bonobo apes display moral behavior, a finding which
challenges the human sense of superiority. He makes it difficult for those people who would
like to draw a sharp distinction between humans and all other living creatures, but the message
of his research is an optimistic one: If human morality has roots in the very distant past, we can
expect it to be more resilient in the face of cultural and historical changes.

(1) The fact that bonobo apes display moral behavior is proof that human morality already
existed in humankind's ancient past.
(2) If the origin of morality is not in humankind's ancient past, morality could be more
vulnerable to the influence of cultural and historical circumstances.
(3) Some of those who would like to draw a sharp distinction between humans and all other
living creatures have argued that no living creatures except humans display moral behavior.
(4) Even though it appears that there is no clear dividing line between humans and all other
living creatures with regard to morality, human morality is more resilient than that of other
living creatures.

English

Pycckuit

Portugués

Deutsch

Italiano

moral

OTUYHOC

moral

moralisch

morale

challenges

OpocaeT BBI30B

desafia

in Frage stellt

mette alla prova

superiority

BBICOKOMEPHIO

superioridade

Uberlegenheit

superiorita

creatures

CO3JaHHUsA

criaturas

Geschopfe

creature

resilient

CTOMKas

resiliente

widerstandsféhig

resiliente

vulnerable

TOABCPIKCHA BJIUSIHUIO

vulneravel

verletzlich

suscettibile

dividing line

b N e N N N N

YeTKas TpaHb

linha delimitadora

Trennungsstrich

linea di

demarcazione
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Reading Comprehension (Questions 15-20)

Read the text below carefully, and answer the questions that follow.

(1) There is a common saying that a picture is worth a thousand words, but in the legal world,

it has been words that have had the upper hand for hundreds of years. The trademark of lawyers
has always been rhetoric, the art of using words, and a trial is regarded as a verbal duel. So we
can understand the amused tone of an article in an American journal from 1852, which reported
5) a strange new practice of French lawyers: the use of daguerreotypes, an early version of
photographs, to convince judges and members of the jury. However, good ideas spread fast, and
a few years later American lawyers also began to use daguerreotypes. As photographic
technology developed, the use of photographs for legal purposes increased even further, but
courts in the United States could not decide how to relate to them.

(10 According to the accepted rules of evidence in the United States at the time, original
documents were considered to be the best kind of evidence. Lawyers were required to present
original papers — for example, a contract, bill of sale, or will — which were considered reliable.
Only if they had a good reason for not having the original would the court permit them to
submit a copy, whose authenticity would be questioned because, at the time, documents were

(15)  almost always copied by hand. Eyewitness testimony was also considered original evidence.
The testimonies of people who saw a crime being committed or an injured person's wounds
were considered reliable, whereas hearsay evidence from someone who heard a report from an
eyewitness was totally inadmissible. By definition, photographs are copies, but there was no
precedent for this kind of copy: they are more accurate than any other copy and possibly even

English Pycckmit Portugués Deutsch Italiano
had the upper . .
hand JOMHHHPOBAIIN dominavam dominierten hanno prevalso
trademark OTIIMYUTENbHAs yepTta | marca registrada | Markenzeichen tratto distintivo
trial cyn julgamento Gerichtsverhandlung | processo
verbal duel cioBecHbIl noeanHok | duelo verbal Wortgefecht duello verbale
. 3aKOHBI O regras de . .
rules of evidence gras d Beweisrecht regole probatorie
JIOKa3aTeIbCTBaX evidéncia
original OpUTHHAJ original Original originale
will 3aBelIaHue testamento Testament testamento
reliable, HaJIeKHBIN confidveis, o .. | affidabile,
.y A ’ . verldsslich, Echtheit N
authenticity Ha/IeKHOCTh autenticidade autenticita
. MIOJIBEPranach . . . .
be questioned O/IBEP ¢ questionado angezweifelt messa in dubbio
COMHEHUIO
Eyewitness CBunerenbckne Aussage von testimonianza
. testemunho ocular
testimony TIOKa3aHMsI Augenzeugen oculare
wounds TpaBMBbI feridas Verletzungen ferite
. TTOKa3aHUs C YYKHX testemunho . rova per sentito
hearsay evidence y . Geriichte provap
CJIOB auricular dire
inadmissible HETPUEMIIEMBI inadmissivel unzuléssig non accettabile
precedent MIPELEICHT precedentes Prédzedenzfall precedenti
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(200  more so than eyewitness testimony which can be mistaken or biased.

Courts in the United States adopted one of the two approaches. According to one approach,

a photograph should have the status of preferred evidence: it is objective, a sort of mechanical
replication of reality. A supporter of this approach said: "We cannot conceive of a more
impartial and truthful witness than the sun, as its light stamps and seals the similitude of the

(25)  wound on the photograph." According to the other approach, a photograph is not a direct
replication of reality but rather an artificial and complex representation of it. In the process of
producing a photograph, especially in those days, unavoidable distortions often occurred.
Moreover, a photograph only appears to be objective; in practice, it can be excessively
influenced by the photographer. Through his choice of lighting, angle and other elements, the

(30)  photographer can either highlight or blur certain aspects of the reality he is documenting. In
response to the quotation mentioned above, one of the supporters of this approach said:
"Though the sun does not lie, the liar may use the sun as a tool."

In 1881, a United States court ruled that photographs were neither a separate category of

evidence nor inherently different from copies. A visual representation was only considered

(35) admissible evidence if an eyewitness testified to its accuracy. In other words, photographs were
acceptable, but only to clarify eyewitness testimony. It would take several more decades for the
courts to change their position. By the end of the 1920s it was universally accepted that an
eye-witness was not required to confirm the content of a photograph in order to establish its
reliability. It was sufficient for an expert witness to testify that it had been produced in a

(40)  reliable manner. Thus photographs ceased to be a mere tool used by witnesses for presenting
their knowledge to the court and became objective evidence that could serve as direct proof of

what was documented in them.

English Pycckmni Portugués Deutsch Italiano
biased TTOJIKY TITEHBI tendencioso parteiisch influenzata
preferred MIPUOPUTETHBIN preferido bevorzugt privilegiata
replication KOTIHSI réplica Vervielfiltigung replica
impartial 00BEKTHBHBIHT imparcial unparteiisch imparziale
seals 3areyarien cunhou abbildet imprime
similitude TOYHASI KOTIHSA semelhanga Ebenbild somiglianza
representation perpe3eHTanus representacao Wiedergabe rappresentazione
unavoidable HEN30eKHBIC distor¢des unvermeidliche inevitabili
distortions WCKaKCHUS inevitaveis Verzerrungen distorsioni
excessively JTAJICKO MIYTINe excessivamente weitgehend eccessivamente
blur CKPBITh ocultar verwischen offuscare
inherently 10 CyTH inerentemente wesentlich sostanzialmente
admissible npuemMiemas admissivel zuldssig ammissibile
ceased riepecTanu deixou de horten auf smisero
objective HE3aBHCUMBIE objetiva objektiv indipendenti
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/ Questions
15. Inline 6, "good ideas spread fast" refers to -
(1) using daguerreotypes to document reality
(2) using daguerreotypes in court
(3) adopting legal methods that were accepted in other countries
(4) progressing from daguerreotypes to more advanced photographic technologies
16.  According to the second paragraph, in which of the following are the different types of evidence
listed in order of their reliability (beginning from most reliable to unreliable), based on the
accepted rules of evidence in the United States in the mid-nineteenth century?
(1) original document, copy, hearsay evidence
(2) copy, eyewitness testimony, hearsay evidence
(3) original document, copy, eyewitness testimony
(4) eyewitness testimony, hearsay evidence, copy
17.  Which claim is the quotation "Though the sun does not lie, the liar may use the sun as a tool"
(line 32) meant to illustrate?
/ (1) that the end product of photography is influenced by the photographer's motives
(2) that unavoidable distortions often occur during the process of photography
(3) that even though photographs are objective, admitting them as evidence may lead to a
miscarriage of justice
(4) that using photographs in court makes it easier for witnesses to give false testimony
/ 18.  Which of the following types of evidence is a "visual representation" (line 34)?
(1) a gun found at the crime scene
(2) eyewitness testimony of a person who saw another person shoot a gun
(3) traces of gunpowder on a crime suspect's hands
(4) a photograph of bullets lying at the crime scene
English Pycckuit Portugués Deutsch Italiano
/ fmiscarriage of HCKASHTE CyNieOHEIH ghstprgao da Rechtsentstellung errore giudiziario
justice nporecc justica
gun IHUCTOJIET revolver Schusswaffe pistola
crime scene MeCTO TpecTyIuieHus: | cena do crime Tatort scena del crimine
traces OCTaTKH tracos Spuren tracce
gunpowder TTOPOX pélvora Schie3pulver polvere da sparo
bullets TyJTu balas de revélver | Geschosse proiettili
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The word "it" (towards the end of line 39) refers to -

(1) aphotograph

(2) the use as evidence
(3) the court

(4) the eyewitness

)
&

Which of the following is the most appropriate title for this text?

(1) The Development of Visual Evidence in the Courts: From Daguerreotypes to Modern
Photography.

(2) The Evolution of the American Legal System's Attitude to Photographs as Evidence.

(3) Different Approaches Within the Legal World Concerning the Admissibility of Photographs
as Evidence.

(4) The Influence of the Developments in Photography on the American Legal System's
Attitude Toward the Use of Photographs as Evidence.
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Quantitative Reasoning

This section consists of questions and problems involving quantitative reasoning. Each question is followed by four
possible responses. Choose the correct answer and mark its number in the appropriate place on the answer sheet.

Note: The words appearing against a gray background are translated into several languages at the bottom of each page.

This section contains 20 questions.
The time allotted is 20 minutes.

General Comments about the Quantitative Reasoning Section

k

The figures accompanying some of the problems are provided to help solve the problems, but are not necessarily drawn
to scale. Therefore, do not rely on the figures alone to deduce line length, angle size, and so forth.

If a line in a figure appears to be straight, you may assume that it is in fact a straight line.

When a geometric term (side, radius, area, volume, etc.) appears in a problem, it refers to a term whose value is greater

than 0, unless stated otherwise.

When va (a > 0) appears in a problem, it refers to the positive root of a.

"0" is neither a positive nor a negative number.
"0" is an even number.
"1" is not a prime number.

Formulas

a
100 X

Exponents: For every a that does not equal 0, and for
any two integers n and m -

Percentages: a% of x is equal to

1

a. a = -
b. am +Nn

i m n
c. am=("a) (0<a,0<m)
d. a"M=@"Hm
Contracted Multiplication Formulas:
(@xby¥=a%+2ab+b?
(a+b)a-b)y=a’-b’

distance _

Distance Problems: - = speed (rate)
time

Work Problems: amount of work
- time

= output (rate)
Factorials: n!=n(n-1H(n-2)-...-2-1

Proportions: If AD||BE||CF

AB _ BC AB _ DE
then 5 =g and 25 = pF
Triangles:

a. The area of a triangle with base of
length a and altitude to the base of

length h is aéh

A D
B E
c F
a
b. Pythagorean Theorem: A,
BE——>C

In any right triangle ABC, as in the |
figure, the following always holds
true: AC? = AB? + BC?

c. In any right triangle whose angles measure

30°, 60°, 90°, the length of the leg opposite
the 30° angle is equal to half the length of

the hypotenuse.
b
1]

2
o,e%
Je

The area of a rectangle of length a
and widthbisa-b

10.

11.

12.

13.

14.

15.

16.

<«~b—>

AR

«~——a—>

The area of a trapezoid with one

base length a, the other base length b,
(a+b)-h
2

and altitude h is

The sum of the internal angles of an n-sided
polygon is (180n — 360) degrees. In a regular
n-sided polygon, each internal angle measures

(1800360 ) _ (150 - 360 ) geprees

Circle:
a. The area of a circle with radius r

is P2 (= 3.14..)

. o \</
b. The circumference of a circle is 27r
c. The area of a sector of a circle with a
oo 2. X

central angle of x° is 7r 360
Box (Rectangular Prism), Cube:
A

a. The volume of a box of length a,
width b and heightcisa-b-c

b. The surface area of the box is
2ab + 2bc + 2ac

N\

c. Inacube,a=b=c

Cylinder:
a. The lateral surface area of a cylinder with —3
base radius r and height h is 27tr - h

b. The surface area of the cylinder is
21r% + 27r - h = 27r(r + h)

«— T —>»

c. The volume of the cylinder is 7tr>- h

The volume of a cone with base radius r

2-
and height h is nr3 h g

The volume of a pyramid with base
area S and height h is S?;h

b N e N N S N NN
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45 Q
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ax”

a
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100 X 0N X-n a% 29NN
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a'n—L N
a"

am+n=am.an A

a% =-(Ma)"

(Ob<a,0<m)

(aib)2=a2i2ab+b2
(a+b)a-b)y=a’-b’

98P0 Y95

mrmn = 120 v nya
ot
popn = 1712Y M2 :povn N1YA
JAly

nNl=n(n-1)(n=2)-...-2-1 :n98y

AD||BE||CF ox :mrsmois

AB _DE _ AB_BC
AC ~ DF DE ~— EF
WHYN
a1DDa TINY UIWN NLY N
a-h

7 NN ,h v 9025 nann T

DM LOVN A
LIV ABC mm v whwna

AC? = AB? + BC? o»pmn
10 YIVIMNY I W vowna

Smw a3 7N ,90°-1 60°, 30°
AN TINR O8N v 30° 1D

bl:l a-b xn bamm annxy jabn novw
a

1

2

3

o

b e N N e NN

(1”y) N>IYN71I NII'NAY XX T2IN7 NNINY NI '7D ©

.NDIYN7I NII'NA7 'XIRN TOINNN ANDA YR K72 - NIND D770 IX D710 = NTN77 IX JYXNKR 7021 NIX 702 NIN0D D'YO{7 IN 1T NN Y'ONT7 IR 7NYn7 'R


https://www.nite.org.il/formulas-page/

Quantitative Reasoning - First Section -56 - Spring 2019
/ Questions and Problems (Questions 1-15)
1. The accompanying figure shows a circle with center O.
Triangle ABC is inscribed in the circle.
A
Based on this information and the information in the figure,
oa="?
70°
B o C
(1) 10°
(2) 20°
3) 30°
(4) 40°
2. The sum of three consecutive numbers is 33.
The product of the two largest numbers is -
(1) 110
(2) 120
3) 121
/ 4) 132
3. In a certain kibbutz, 9 volunteers work in agriculture.
- 5 volunteers only collect eggs and pick vegetables.
- 3 volunteers only milk cows and pick vegetables.
- 1 volunteer only collects eggs and milks cows.
What is the ratio between the number of volunteers who milk cows and the number of those
who pick vegetables?
(1) 1:2
2) 2:3
3) 3:5
/ “4) 3:8
English Pycckmnii Portugués Deutsch Italiano
triangle TPEYroJbHUK triangulo Dreieck triangolo
inscribed BITMCaH inscrito eingeschrieben iscritto
sum cymma soma Summe somma
consecutive MOCJIEZIOBATENBHBIX | consecutivos aufeinander folgend | consecutivi
product MIPOU3BENICHIE produto Produkt prodotto
ratio COOTHOIIIEHUE razio Verhiltnis rapporto, proporzione
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The total number of letters delivered by a mail carrier equals the average number of letters
delivered to each house the number of houses to which letters were delivered.

(1) minus

(2) plus

(3) divided by
(4) multiplied by

The accompanying figure shows one large parallelogram formed from 9 congruent
parallelograms. The perimeter of each small parallelogram is a cm.

What is the perimeter of the large parallelogram (in cm)?

(1) 27a J S S S
) 9a J S ST

(3) 3a
4) 6a

Given: X+y=3
y<-2

What is the exact range of X ?

b N e N N N N

(1) x>1

2) x<1

(3) x=5

4) x<5
English Pycckuit Portugués Deutsch Italiano
delivered JIOCTaBHI distribuiu austragen consegnate
mail carrier IOYTAIIbOH carteiro Brieftriger postino
average cpenHee média Durchschnitt media
divided by pa3nenuTs Ha dividido por geteilt durch diviso per
multiplied by YMHOXKHTH Ha multiplicado por | malgenommen mit | moltiplicato per
parallelogram HapajyIeIorpaMMbl paralelogramo Parallelogramm parallelogramma
congruent KOHIPY3HTHBIE congruentes deckungsgleich congruenti
perimeter TIepUMETP perimetro Umfang perimetro
range 00J1acTh 3HAYCHUI extensao Geltungsbereich immagine (mat.)
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X+y=3 qm
y<-2

17X 5% PITHN NNV N

Xx>1 (1)

(2)

(3)

X<5 4
Magyar Nederlands RTICT Espaiiol 94y
kézbesit bezorgd fhds.nm- distribuy6 Pon
postas postbode 703 Ahd4-2 cartero M1
atlag gemiddelde AThe promedio U3TaVa)
osztva gedeeld door hd.A dividido por PoN
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7. A square with sides 2 meters long is drawn on a playground. Anat stands at one corner of the
square and begins walking along its perimeter. After each step she takes, she can continue in
the same direction or go back. Each step Anat takes is one meter long.

After Anat takes 4 steps from the starting point, which of the
following cannot be her distance from the starting point (in a straight line)? &
(1) O meters
(2) 2 meters 2m< ¢ ?
(3) /5 meters
(4) /8 meters ¢
8. Two farmers work in fields, each one working at his own constant speed:
It takes farmer A 15 hours to plough a field whose area is 1 dunam.
It takes farmer B 10 hours to plough a field whose area is 1 dunam.
It took 30 hours for the two farmers, working together, to plough a certain field.
What is the area (in dunams) of this field?
(1) 24
(2) 3.6
3) 5
) 6
9. In the accompanying figure, N and m are parallel straight lines.
Based on this information and the information in the figure,
b
X n
(1) 50°
2y - 30°
2) 66°
@) .
3) 30° X+y
/ (4) 44°
English Pycckmii Portugués Deutsch Italiano
square KBapar quadrado Quadrat quadrato
sides CTOpOHA lados Seiten lati
distance paccrosiHue distancia Entfernung distanza
constant speed | moctosiHHas ckopocth | velocidade constante | feste Geschwindigkeit | velocita costante
plough BCIIAXUBACT ara pfliigen arare
area TI0MIA/h area Fldache area
parallel napajuleNbHbIE NpsIMBIE | retas paralelas parallel parallele
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b
X n
50° (1)
2y —30°
o]
m 66° (2)
X+y 30° (3)

/ 44° (4)
Magyar Nederlands ATICT Espaiiol 7592y
négyzet vierkant alrA Pt ket cuadrado JatR]
oldalak zijden 7 lados yoN
tavolsag afstand cet distancia PNm
allando sebesseg constante snelheid | £ QU1 9t velocidad constante 2P aNp
szant ploegen £CAA rastrilla Rl
tertilet oppervlakte ng area now
parhuzamos evenwijdige T+oe avpavci rectas paralelas D¥2)2pN DWW
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10. Given: 1<w,z,y,Xx

The expression

E\N‘~<\><
7
1

(1) smaller, the greater that X is
(2) greater, the smaller that w is
(3) smaller, the greater that y is
(4) smaller, the smaller that z is

11. Given: 1<a
l-a _,
1+va
(1 1-va (2) -a-va (3) a-va % -va
12. a and b are positive integers.
Given: a=3b
Which of the following numbers could be a + b ?
(1) 126
(2) 262
(3) 321
(4) 484
English Pycckui Portugués Deutsch Italiano

esble numeros inteiros e numeri interi

positive integers o positive ganze Zahlen C
TIOJI0KUTEIILHBIC YHCIa | POSItIvos positivi

b N e N N N N

e N e N N N S N
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l<w,z,y,x pm .10
X
—ron L oan
z
w

DY KDY X-w 930 v R (1)
ANV PP W-Y 933 N T (2)
DY DI Y-w 9302 I WP (3)
AN JOP Z-v 930 IV P (4)

va @

a-va 3

-a-va (@

l<a gm .11

1-a

_1=a _9
l1+va

1-va @

ra+ b nyrnb 919 ooxan o19onn P PN

.0»avm oo ovon b-ya .12

a=3b m

126 (1
262 (2)
321 (3)
484 (@

Magyar

Nederlands

ATICTE

Espaiiol 94y

pozitiv egész szam

positieve gehele
getallen

Zhta erCT

ndmeros enteros y

positivos 021N DOV
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13. In the accompanying figure, the four shaded triangles are congruent to one another.
The area of the striped triangle equals the sum of the areas of the shaded triangles.

y
Based on this information and the information in the figure, e
&l
&l
M 1 =
2) 2 X
3) 3 [~
@) 4 X
14. The accompanying figure shows three congruent boxes placed side by side to form a cube
whose surface area is 54 cm?.
What is the surface area (in cm?) of each of the three boxes?
(1) 18
(2) 20
3) 28
4) 30
15. Grandma shared a candies equally among her 20 grandchildren.
If Grandma had x grandchildren more, how many fewer candies would each grandchild receive?
a
ey 20+ ax
a
) 700+20x
ax
() 700 +20x
ax—a
@ 20+x
English Pycckuit Portugués Deutsch Italiano
shaded 3aKpaIIeHHbIH sombreados grau scuri
striped 3aIITPUXOBAHHBIN tracejado gestreift a striscie
sum cymMmMma soma Summe somma
boxes MPSIMOYTOJIbHBIE MTapaJuIeIeUIEbl | caixas Kisten scatole
cube KyO cubo Wiirfel cubo
surface area | TUTOIIIAAb MOBEPXHOCTH area da superficie | AuBlenfldche | area della superficie
fewer MEHbIIIE menos weniger in meno

b N e N N N N

b e N N N N N N
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a

20 + ax (1)

a

200+20x 2

ax

200 +20x ¥

ax-—a

20+x @
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Chart Comprehension (Questions 16-20)

Thirteen runners participated in a 3,000 meter race

until the end of that time period.

worsened.

outside this range.

Study the charts below, then answer the five questions that follow.

The charts below show details of the running statistics of Amnon and Boaz, two of the participants.
Nine time periods are marked on each horizontal axis: the first eight are time periods of one minute
each, and the ninth time period shows the last seconds in which each participant ran. For each time
period, the bottom horizontal axis shows the distance that the participant ran from the start of the race

For each time period there is a bar. The top and bottom edges of the bar mark the runner's ranking
relative to all the other runners at the beginning and end of the time period (see key). An unshaded
bar indicates that the runner's ranking improved, and a shaded bar indicates that the runner's ranking

Note: During any given time period, a runner's ranking at any moment is in the range between his
ranking at the beginning of that time period and his ranking at the end of it and does not deviate

Example: The sixth time period began 5 minutes after the race started. At the start of this time period,
Boaz was ranked in seventh place, and at the end he was ranked in sixth place. During this
minute, Boaz ran a total of 370 meters (2,080 - 1,710 = 370).

Note: In answering each question, disregard the information appearing in the other questions.
Note: Translations of the words appearing against a gray background appear on pages 68-69.

N N N e N N

Worsening Ranking Improving Ranking
Rank at start of Rank at end of
time period - time period
Rank at end of Rank at start of
time period time period
AMNON BOAZ
Rank Rank
T S T -
N an N1 [
S O [ I E
4_7 — - — — 4 |- - - - - - - - - - _ D:7D77 4_7 7777777777777777 — — - — — —
S+{pr----44|--"""""""“"~"~"—=—————— R ol T i o Rl o el D ********
2 I O 641 |- - ,D, o N
A d o S R
S+ +--1/---------------------- 8§44 = - —- —D 7777777777777
L e T 91—~ S
o+t -----------"-"-"-"-"-"-"----- 0t -------- -
u4| b4 -------------------——-- 1 R
I e R4 -
B B
Time T T T T T T T T T T r T T T T T T T T T
(inminutes) 0 1:00 2:00 3:00 4:00 5:00 6:00 7:00 8:00 8:21 0 1:00 2:00 3:00 4:00 5:00 6:00 7:00 8:00 8:14
Distance | 1 1 1 1 1 1 1 1 1 L 1 1 1 1 1 1 1 1 1

=

(inmeters) 0 325 665 995 1401 1800 2210 2540 2840 3000

0 332 671 988 1358 1710 2080 2460 2870 3000
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Questions

distance.

1 51%
(2) 55%
3) 57%
4) 60%

16. 'When Amnon had completed 60% of the race distance, Boaz had completed of the race

1 1
2 2
3 3
“4) 4

17. How many time periods were there in which Amnon was ranked in fourth place at some time
during the time period, but his ranking worsened by the end of the time period?

certainly better than Boaz's ranking?

18. How many time periods were there in which Amnon's ranking during the entire time period was

b N e N N N N

(H 1

2 2

3) 3

“) 4
English Pycckuit Portugués Deutsch Italiano
time periods OTPE3KU BpEMEHHU periodos de tempo | Zeitrdume periodi di tempo
horizontal axis TOPU30HTAJIbHAS OCh eixo horizontal x-Achse asse orizontale
bar MIPSIMOYTOBHUAK retangulo Streifen barra
edges Kpas pontas Kanten bordi
ranking MeCTO posicao Platzierung posizione
relative OTHOCHUTEIHLHO relativamente a im Vergleich zu in relazione a ...
unshaded CBETJIBIN claro hell chiara
improved YITY YA melhorou verbessert ¢ migliorata
worsened VXY piorou verschlechtert ¢ peggiorata
deviate BBIXOJIMT 32 TIPEIeITbI se desvia, excede | abweichen devia
completed TpozeIIa completou zuriickgelegt ha completato
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19.  The running coach presented Amnon's ranking at the start and end of the race.
(An unshaded bar indicates an improvement and a shaded one indicates a worsening in ranking.)
Which of the following charts did the coach present?
ey 2 3) )
/ Rank Rank Rank Rank
v v v v
1 1 1 1
2 2 2 D 2
3] O 3 3 3
12 12 12 12
13 13 13 13
. Time . Time . Time . Time
/ 0:01 8:21 iy minutes) 0:01 8:21 (i minutes) 0:01 8:21 (i minutes) 0:01 8:21 (i minytes)
20. At the end of how many complete minutes from the start of the race was the distance between
Amnon and Boaz the greatest?
(1) 7 minutes
(2) 6 minutes
(3) 5 minutes
(4) 4 minutes
English Pycckuit Portugués Deutsch Italiano
coach TpEeHEP treinador Trainer allenatore
complete LIEIIBIX completos volle Minuten completi
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Quantitative Reasoning

This section consists of questions and problems involving quantitative reasoning. Each question is followed by four
possible responses. Choose the correct answer and mark its number in the appropriate place on the answer sheet.

Note: The words appearing against a gray background are translated into several languages at the bottom of each page.

This section contains 20 questions.
The time allotted is 20 minutes.

General Comments about the Quantitative Reasoning Section

k

The figures accompanying some of the problems are provided to help solve the problems, but are not necessarily drawn
to scale. Therefore, do not rely on the figures alone to deduce line length, angle size, and so forth.

If a line in a figure appears to be straight, you may assume that it is in fact a straight line.

When a geometric term (side, radius, area, volume, etc.) appears in a problem, it refers to a term whose value is greater

than 0, unless stated otherwise.

When va (a > 0) appears in a problem, it refers to the positive root of a.

"0" is neither a positive nor a negative number.
"0" is an even number.
"1" is not a prime number.

Formulas

a
100 X

Exponents: For every a that does not equal 0, and for
any two integers n and m -

Percentages: a% of x is equal to

1

a. a = -
b. am +Nn

i m n
c. am=("a) (0<a,0<m)
d. a"M=@"Hm
Contracted Multiplication Formulas:
(@xby¥=a%+2ab+b?
(a+b)a-b)y=a’-b’

distance _

Distance Problems: - = speed (rate)
time

Work Problems: amount of work
- time

= output (rate)
Factorials: n!=n(n-1H(n-2)-...-2-1

Proportions: If AD||BE||CF

AB _ BC AB _ DE
then 5 =g and 25 = pF
Triangles:

a. The area of a triangle with base of
length a and altitude to the base of

length h is aéh

A D
B E
c F
a
b. Pythagorean Theorem: A,
BE——>C

In any right triangle ABC, as in the |
figure, the following always holds
true: AC? = AB? + BC?

c. In any right triangle whose angles measure

30°, 60°, 90°, the length of the leg opposite
the 30° angle is equal to half the length of

the hypotenuse.
b
1]

2
o,e%
Je

The area of a rectangle of length a
and widthbisa-b

10.

11.

12.

13.

14.

15.

16.

<«~b—>

AR

«~——a—>

The area of a trapezoid with one

base length a, the other base length b,
(a+b)-h
2

and altitude h is

The sum of the internal angles of an n-sided
polygon is (180n — 360) degrees. In a regular
n-sided polygon, each internal angle measures

(1800360 ) _ (150 - 360 ) geprees

Circle:
a. The area of a circle with radius r

is P2 (= 3.14..)

. o \</
b. The circumference of a circle is 27r
c. The area of a sector of a circle with a
oo 2. X

central angle of x° is 7r 360
Box (Rectangular Prism), Cube:
A

a. The volume of a box of length a,
width b and heightcisa-b-c

b. The surface area of the box is
2ab + 2bc + 2ac

N\

c. Inacube,a=b=c

Cylinder:
a. The lateral surface area of a cylinder with —3
base radius r and height h is 27tr - h

b. The surface area of the cylinder is
21r% + 27r - h = 27r(r + h)

«— T —>»

c. The volume of the cylinder is 7tr>- h

The volume of a cone with base radius r

2-
and height h is nr3 h g

The volume of a pyramid with base
area S and height h is S?;h

b N e N N S N NN
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Questions and Problems (Questions 1-7)

/ 8 3
1. 8-S =92 | (c.az0)
a -C
, 1
() a”-c?
/ 2) a’-c?
4 L
(3) a*-c?
4) a*-c?
/ 2. The accompanying figure shows triangle ABC. D and E are points on the triangle's sides.
Given: ED || BC
- : . o 3cm
Based on this information and the information in the figure, b
what is the area of trapezoid BCDE (in cm?)? E 2 om
6 cm
(1) 21
(2) 24 - c
(3) 30
4) 33
English Pyccknit Portugués Deutsch Italiano
triangle TPEYTOILHUK triangulo Dreieck triangolo
sides CTOPOH lados Seiten lati
area IO b area Flache area
trapezoid Tparemnus trapézio Trapez trapezoide
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3. Quadrilateral EFGH is inscribed in rectangle ABCD (see accompanying figure).
What is the sum of the shaded angles? A D
(1) 180° F
(2) 270°
(3) 360° B c
(4) 540°
4. There are 100 books in a certain library.
Given: 45 of the books are poetry books.
60 of the books are translated books.
Therefore, the number of translated poetry books is at least and at most .
(1) 5;40
2) 5;45
(3) 15;40
(4) 15;45
English Pycckmi Portugués Deutsch Italiano
Quadrilateral YEeTBIPEXYTOIBHUK quadrilatero Viereck quadrilatero
is inscribed BIIMCAH inscrito eingeschrieben ¢ iscritto
rectangle MPSIMOYTOJIbHUK retangulo Rechteck rettangolo
sum cymma soma Summe somma
shaded 3aKpalleHHbIH sombreada grau scura
angles YTIIOB angulos Winkel angoli
at least 110 MEHbIIIEN MeEpe no minimo mindestens come minimo
at most 110 OoJbIIIel Mepe no maximo hochstens al massimo

e N e N N N S N
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5. The base radius of a cylinder is r cm.
The height of the cylinder equals the diameter of the base of the cylinder.
The volume of the cylinder (in cm?)
The circumference of the base of the cylinder (in cm)
) r
2
@ ¥
3) mr
(4) It cannot be determined from the information given.

6. At the General Clothing Store, a skirt costs 75 shekels, and a shirt costs 45 shekels. On a
certain day, the number of shirts sold was three times as many as the number of skirts sold. The
total amount of money received from the sale of shirts and skirts on this day was 840 shekels.
How many skirts were sold in the store on this day?

(1) 12
@ 9
3) 6
“ 4

7. In a certain building, the elevator goes up at the rate of 5 floors a minute and goes down at the
rate of 10 floors a minute.

How long will it take for the elevator to go up from the 5th floor to the 25th floor, then go down

to the 15th floor, and finally go up to the 40th floor (without making any stops)?

(I) 8 minutes

(2) 9 minutes

(3) 10 minutes

(4) 11 minutes
English Pycckuit Portugués Deutsch Italiano
base OCHOBaHHUE base Grundflidche base
radius panmyc raio Halbmesser raggio
cylinder LHAJIUHAD cilindro Walze cilindro
height BBICOTA altura Hohe altezza
equals paBHa ¢ igual ist gleich ¢ uguale
diameter JMameTp diametro Durchmesser diametro
volume o0beM volume Rauminhalt volume
circumference MIEPUMETP perimetro Umfang circonferenza
total amount o01mas cymma valor total Gesamtbetrag somma totale
rate CKOPOCTh ritmo Geschwindigkeit ritmo

b N S N N e e N N
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Chart Comprehension (Questions 8-11)

Study the chart below, then answer the four questions that follow.

The chart presents information about American armed forces that came to France during the First
World War between June 1917 and October 1918. The forces were made up of divisions, each division
having its own identifying number. The chart shows the identifying numbers of all the divisions that
were in France during each month. Each row in the chart represents a different division.

Note: During the entire period shown in the chart, no division left France.
Example: In September 1917, there were three American divisions in France: Division 1,
Division 2, and Division 26. This was the first month that Division 26 was in France.

Note: In answering each question, disregard the information appearing in the other questions.
Note: Translations of the words appearing against a gray background appear on pages 82-83.

The total number

of American
Divisions
in France
A 4
8
38 1
31 40
34 34
86 86
84 84
87 87
40 40 40 T
39 39 39
88 88 88
81 81 81
7 7 7 1130

76 76 76 76 | 55

89 89 89 89 89 |,

33 33 33 33 33 33 L 15

35 35 35 35 35 35 |9

41 41 41 41 41 41 41 41 41 41 41

42 42 42 42 42 42 42 42 42 42 42 42

26 26 26 26 26 26 26 26 26 26 26 26 26 26

2 2 2 2 2 2 2 2 2 2 2 2 2 2 2

1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

June July Aug Sep Oct Nov Dec| Jan Feb Mar Apr May June July Aug Sep Oct
1917 1918
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/ Questions
8. During the period shown in the chart, which of the following divisions stayed in France for the
longest time?
1 8
2) 32
3) 77
4) 80
9. At the end of the war (from November 1918 onwards), evacuation of the American divisions
from France began at a rate of 3 divisions a month. The order of evacuation was based on how
long each division had been in France. The first 3 divisions to come to France were the first to
be evacuated. The following month, the 3 divisions that had come next were evacuated, and so
on.
After 8 months of evacuation, the division that had been the longest time on French soil could
have been the -
(1) 8th Division
(2) 29th Division
(3) 41st Division
(4) 77th Division
10.  For the months shown in the chart, which of the following is correct?

(1) There is a month when no divisions at all came to France.
(2) There is a month when more than 10 divisions came to France.
(3) Atleast 2 divisions came to France every month.
(4) Every month, more divisions came to France than in the previous month.

/ English Pycckmii Portugués Deutsch Italiano
divisions JTUBU3UU divisoes Divisionen divisioni
identifying unenTudukanonnelii | de identificagdo Kenn- di identificazione
row CTpOKa linha Zeile fila
evacuation OTOBIBATH evacuacao Abzug evacuazione,

evacuare
previous TIPEIBI Ty U anterior Vormonat precendente
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[y
[y
o

June 1917). The result of the teacher's calculation was a number -

(1) between 1 and 2
(2) between 2 and 3
(3) between 3 and 4
(4) between 4 and 5

A history teacher calculated the average number of divisions that joined the forces in France
each month during the period shown in the chart (assuming that the first division came in

Questions and Problems (Questions 12-20)

12. Given: aequals 50% of b.
C equals 125% of b.

Therefore, € equals of a.

1 75%
2) 125%
3) 175%
4) 250%

[
e

Two fair dice are thrown.

The probability that the sum of the outcomes will be 12

The probability that the sum of the outcomes will be 11

1 1
@ =
3)

“

English

Pyccknit

Portugués

Deutsch

Italiano

average

B Cpe/IHEM

média

Durchschnitt

la media

assuming that

IIpU YCIIOBUU, UTO

assumindo que

vorausgesetzt, dass

partendo

dall'assunto che ...

b N e N N N N

fair dice crannaptaeie kyoukn | dados honestos Spielwiirfel dadi

probability BEPOSITHOCTH probabilidade Wahrscheinlichkeit | probabilita

outcomes pe3yJbTarhl resultados Ergebnisse risultati
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/ 14. a, b and c are three numbers that are different from O.
Given: |al+b+]cl=c
Which of the following statements is necessarily correct?
(1) bis a positive number
(2) bis a negative number
(3) cis a positive number
(4) cis anegative number
. . . 1 1 1 1 1
15.  Given: The following one hundred numbers: = > T » 3 » 3% , o0
2 2 2 2 2
The sum of the numbers is -
/ (1
(2) between O and 1
(3) between 1 and 2
(4) between 2 and 3
/ 16. The letters A, B and C represent digits from 1 to 9.
Given: . 35A
4B
15CC5
Which of the following statements is necessarily true?
/ (1) A+B>10
(2) A + B is an odd number
(3) A + B is an even number
(4) A + B is divisible by 5
English Pycckmii Portugués Deutsch Italiano
different HE paBHBIX diferentes verschieden von diversi
positive number | OJIOKUTEIHHOE YUCIIO | nimero positivo | positive Zahl numero positivo
negative number | OTpHLIATENILHOE YUCIIO | nimero negativo | negative Zahl numero negativo
represent COOTBETCTBYIOIINE representam darstellen rappresentano
digits nudpam algarismos Ziffern cifre
odd number HEYETHOE YHCIIO ndmero impar ungerade Zahl numero dispari
even number YETHOE YUCIIO nlimero par gerade Zahl numero pari
divisible by JIEJINTCS Ha divisivel por teilbar durch divisibile
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/ 17. X,y and z are positive integers.
Given: Yy <X
x and y are evenly divisible by z.
Which of the following statements is necessarily correct?
() z#y
2) x=2y
3) 2z<x
4) y<z<x
18. The accompanying figure shows three line segments in a coordinate system with lengths
a, b and c.
. L y
Which of the following is true? A
- (7.4)
(e a
(1) a=b#c (32)
(—l,l)T \0(1,1)
2) a#b=c >X
c
3) a=b=c
(-1.-4)
(4) a#b#c
English Pycckmi Portugués Deutsch Italiano
o LieJIble ndmeros inteiros positive ganze numeri interi
positive integers o o
TTOJIOKUTEIFHBIC YHCIa | positivos Zahlen positivi
evenly 0e3 ocraTka sem deixar resto | ohne Rest senza resto
line segments OTPE3KH segmentos de reta | Strecken segmenti
coordinate sistema de . sistema di
CUCTEeMa KOOpAMHAT Koordinatensystem .
system coordenadas coordinate
lengths JUTHBI comprimentos Lédngen lunghezze
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Z£y (1)
X=2y (2
22<X (3)
y<z<x (4

(0D XY €Y b ,a DaNRY DdYLP VDY DN Nowyna .18

‘y 27712123 MININ NIYLIN N
: 74
CEIN a
(32 a=b#c
CLhe [MNe(i1
! @b >X azb=c @
c a=b=c (3
('la'4)
atb#c @
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19. Olga traveled from A to B. During the first part of the journey, she traveled at a constant speed
of 60 kph, and during the second part of the journey, she traveled at a constant speed of 40 kph.
The time it took for Olga to reach B was equal to the time it would have taken her to travel from
A to B at a constant speed of 50 kph.
The time that Olga traveled at 60 kph
The time that Olga traveled at 40 kph
1) 1
@ 2
3 %
@ +
20. The accompanying figure shows six circles each with a radius of 1 cm.
Each of the three straight lines is tangent to four of the circles (see figure).
What is the area of the shaded region (in cm?)?
(1) 6v2-m1
(2) 6vV2-2m
(3) 6vV3-7
(4) 6vV3-2m
English Pycckuit Portugués Deutsch Italiano
constant speed MOCTOSIHHASL CKOPOCTh velocidade gleichbleibende velocita costante
constante Geschwindigkeit
tangent KacarenabHas tangente tangiert tangente
shaded 3aKpaIIeHHbIH sombreada grau scura
region Y4acTOK regido Fldche regione, spazio

b N e N N N N

Copyright © by the National Institute for Testing and Evaluation. All rights reserved.

The test or any part of it may not be taught, copied or distributed in any form or by any means without written permission from the National
Institute for Testing and Evaluation.

N N N e N N N N



2019 2'AN TVID -91 - nY 719 - N'NIND Nna'Ywn

/ YD) MWN PON ,WHp 60 SV NYiap MPNNa NYo XN TN YW PUNIN pona B-5 A-n nypy mow .19
5w nyip mpnna B-5 A-n nyoin yovd nnwn yova B-5 nyon on .wnop 40 Sv nyiap manna
wmp 50
vnp 60 S¥ Mm1nna nypy mnxw ;i _
wp 40 S MPINa YD) MOINY Yt
/ IGY)
2
5 (2)
2
3 (3)
4
5 (4)
2" 1 DOYPTIV DYYN Y vivioa .20
(DD NI DIAYRNN NYIIND PPWN DIV IVIYWN TN DI
1(77HD32) NNIN NOYN TN N
/ 6V2-T (1)
62 -2 (2)
6V3-T (3
/ 63 -2 (@
Magyar Nederlands A7ICT Espaiiol 9y
/ allando sebesseg constante snelheid | %, &7+ velocidad constante AP MPIN
erintd raaklijn Jhn, tangente Pwn
sotet grijze tmbLo- sombreada N
teriilet vlak ngF = nEA region / area now

b e N N e NN

(1”y) N>IYN71I NII'NAY XX T2IN7 NNINY NI '7D ©

.NDIYN7I NII'NA7 'XIRN TOINNN ANDA YR K72 - NIND D770 IX D710 = NTN77 IX JYXNKR 7021 NIX 702 NIN0D D'YO{7 IN 1T NN Y'ONT7 IR 7NYn7 'R



b N e N N S N NN

English - First Section -92 - Spring 2019

ENGLISH This section contains 22 questions.

The time allotted is 20 minutes.

The following section contains three types of questions: Sentence Completion, Restatement

and Reading Comprehension. Each question is followed by four possible responses. Choose
the response which best answers the question and mark its number in the appropriate place
on the answer sheet.

Sentence Completions (Questions 1-8)
This part consists of sentences with a word or words missing in each. For each question,
choose the answer which best completes the sentence.

1.  Of the chamber music composed by Fauré, his two piano quartets are well known.

(1) instinctively
(2) desperately
(3) particularly
(4) occasionally

2.  Anisthmus is a narrow

of land connecting two larger landmasses.

(1) ray

(2) fund
(3) strip
(4) draft

3.  Animal rights activists the sale of coats made from animal fur.

(1) condemn
(2) obtain
(3) rehearse
(4) gratify

4.  The likenesses of four U.S. presidents are into the rock face of Mount Rushmore.

(1) carved
(2) chanted
(3) creased
(4) compiled
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5. A basic principle of traditional Vietnamese cooking is that in any dish, each ingredient
should maintain its own flavor.

(1) timid
(2) distinct
(3) shrill
(4) literal

6. The shoulder, elbow, and wrist are that enable the arm to move in all directions.

(1) poles
(2) rumors
(3) labels
(4) joints

7.  February 6, 2017, marked the 65th anniversary of Queen Elizabeth II's
throne.

the British

(1) indulgence of
(2) illumination of
(3) allusion to

(4) ascension to

8.  The first circus in the United States in Philadelphia in April 1793 and went on to
give performances all along the country's eastern coast.

(1) deposited
(2) detached
(3) deferred
(4) debuted

b N e N N N N
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Restatements (Questions 9-12)

This part consists of several sentences, each followed by four possible ways of restating the
main idea of that sentence in different words. For each question, choose the one restatement
which best expresses the meaning of the original sentence.

9.  Pekingese dogs are under ten inches in height.

(1) Pekingese dogs are at least ten inches in height.
(2) All Pekingese dogs are ten inches tall.

(3) Pekingese dogs are less than ten inches tall.

(4) Pekingese dogs are usually ten inches in height.

10. Gardening is a popular pastime.

(1) Gardening is very time-consuming.
(2) Many people like to garden in their free time.
(3) Gardening has always been popular.
(4) Everyone enjoys a beautiful garden.

11. 1In 1977, Pakistan's government was overthrown and martial law imposed; only in 1985
was democracy reinstated.

(1) Pakistan reverted to democracy in 1985 after a period of military rule that began in
1977.

(2) In 1985, Pakistan returned to martial law after a short-lived attempt at democracy.

(3) Democracy was finally established in Pakistan in 1985 after a previous attempt to
end martial law had failed in 1977.

(4) Pakistan's democratic government, which was established in 1977, was overthrown
by the military in 1985.

12. It is futile to seek autobiographical references in the poetry of Cecco Angiolieri.

(1) Angiolieri's poems are based on his own experiences.

(2) Angiolieri's autobiography makes little mention of his poetry.
(3) Everything we know about Angiolieri comes from his poetry.
(4) Angiolieri's poems tell us nothing of his life.

N N e N N N N
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Reading Comprehension
This part consists of two passages, each followed by several related questions. For each
question, choose the most appropriate answer based on the text.

Text I (Questions 13-17)

(1) Every day, billions of text messages are sent via cellular telephones. Texting has
given birth to a new language, text-speak. This language is elliptic, with many letters in
a word left out and little punctuation. Perhaps the most noticeable feature of all is the
extensive use of abbreviations: single letters, numerals, and symbols that represent

5) words or parts of words. In text-speak, for instance, "you" is written "u", "before" is
written "b4", and hate is written "h8".

In 2007, the Daily Mail published an article entitled "I h8 txt msgs: How texting is
wrecking our language", in which John Humphrys claimed that texters are vandals who
are destroying English by "pillaging our punctuation [and] savaging our sentences".

(10)  Humphrys is not alone. Many linguists and educators warn that the phenomenon of
text-speak is a deadly scourge, a technological virus. They fear that it spells the end of
the English language.

A counter-argument is presented by David Crystal in his 2008 book, aptly entitled

Txtng: The gr8 db8. Crystal claims that text-speak is not the corruption of language,

(15)  but rather part of its ongoing evolution. He points out that since ancient times, people
have been manipulating language by shortening words and using symbols. Shakespeare
himself took many liberties with the English language, inventing words and introducing
unusual syntax. Crystal goes so far as to argue that texting can even improve
communication, quoting several studies which show that it encourages creativity and

20)  enhances verbal skills. In order to compose a text message that can easily be
understood by others, the texter must have an excellent grasp of spelling, grammar, and
sentence structure. Crystal concludes that though many people dislike texting, it is
merely the latest manifestation of our ability to adapt language to the ever-changing
circumstances of the human condition.

Questions

13. The main purpose of the text is to discuss -
(1) how texting improves communication
(2) the characteristics of text-speak

(3) adebate on the effects of text-speak
(4) the evolution of language

b N e N N S N NN
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14.

According to the first paragraph, letters in text messages.
(1) represent punctuation

(2) replace numbers

(3) are often missing

(4) are not used

15.

Which of the following would be most likely to offend Humphrys?

(1) WWII

(2) How ru?
(3) Dr. Smith
(4) Bye-bye!

16.

The view presented in the second paragraph can best be described as -

(1) well documented

(2) rather inconsistent
(3) extremely negative
(4) completely neutral

17.

The main purpose of the last paragraph is to -

(1) prove that texting encourages creativity

(2) discuss Crystal's book on the evolution of language

(3) provide evidence for the claim made in the second paragraph
(4) present an opinion that challenges Humphrys' argument

Copyright © by the National Institute for Testing and Evaluation. All rights reserved.
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Text II (Questions 18-22)

e Minerals are the substances that rocks are made of. One of the most common
minerals on earth is quartz, which is found in a wide variety of rocks. Quartz may be
colorless but also occurs in virtually every color. It may be transparent — clear enough
to see through; translucent — allowing only some light to pass through; or completely

(5 opaque. Quartz has long been valued for its beauty. Some types of quartz — such as
amethyst, which is purple, and citrine, which is yellow, orange, or brown — are
considered gemstones. These are used to make jewelry, as are stones such as onyx and
agate, in which quartz is layered with other minerals.

Quartz is extremely durable and hence is suitable for a vast array of household
(10)  and industrial applications. It is harder than most other natural substances and is
therefore an excellent raw material for manufacturing abrasives: crushed quartz is used
to make sandpaper for smoothing softer materials like wood, and cleaning products that
scrub off dirt. Quartz sand is essential to the production of glass and ceramics. Because
it is also resistant to heat, quartz is used in the manufacture of refractory bricks, which
(15)  line fireplaces and furnaces.

Transparent quartz is used for making lenses. The curved surfaces of a lens bend
light, magnifying objects and therefore making them easier to see. Remains of quartz
lenses dating back 4,000 years have been found in Syria and Egypt. In Italy, quartz
lenses were set in frames and worn as eyeglasses by the late 13th century. Today, quartz

(20)  lenses are used in many precision optical devices ranging from microscopes to cameras.

One of the most extraordinary characteristics of quartz is its capacity to generate
electricity. In the late 19th century, it was found that when mechanical pressure is
applied to a quartz crystal, electricity is produced. This is known as the piezoelectric
effect, from the Greek word piezo, meaning push. The opposite phenomenon is called

(25) the reverse piezoelectric effect. Passing an electric current — for example, from a
battery — through a quartz crystal results in mechanical pressure that causes the crystal
to expand and contract at regular intervals. These vibrations drive the timekeeping
mechanism of quartz clocks and watches. It is the reverse piezoelectric effect that
makes them so accurate.

Questions

18. Based on the information in the text, which of the following would be least likely to
contain quartz?

(1) a scientific instrument that is heated to very high temperatures
(2) atelescope designed to see faraway planets

(3) atiming device in a computer

(4) atool to test the level of air pollution

b N e N N S N NN
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19.

It can be inferred from the first paragraph that opaque is the opposite of -

(1) colorless
(2) clear

(3) beautiful
(4) common

20.

The third paragraph discusses lenses.

(1) uses of quartz

(2) the invention of

(3) the production of quartz

(4) the advantages of transparent

21.

According to the third paragraph, lenses -

(1) are produced in the same way today as they were in the late 13th century
(2) can be made only out of quartz

(3) can make an object look larger than it actually is

(4) were invented in Syria and Egypt

22,

Which of the following is not true with regard to the reverse piezoelectric effect,
according to the last paragraph?

(1) It is what makes quartz watches work.

(2) It involves the production of mechanical pressure.
(3) It causes quartz crystals to vibrate.

(4) It generates electricity.

b N e N N N N
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ENGLISH This section contains 22 questions.

The time allotted is 20 minutes.

The following section contains three types of questions: Sentence Completion, Restatement

and Reading Comprehension. Each question is followed by four possible responses. Choose
the response which best answers the question and mark its number in the appropriate place
on the answer sheet.

Sentence Completions (Questions 1-8)
This part consists of sentences with a word or words missing in each. For each question,

choose the answer which best completes the sentence.

1.  In many parts of the world, camels and donkeys are still used for carrying heavy

(1) risks
(2) courts
(3) tunnels
(4) loads

2.  American industrialist Andrew Carnegie was a dedicated
million to charitable causes in the course of his life.

, giving away $350

(1) colonialist
(2) lobbyist

(3) pluralist

(4) philanthropist

3.  The human eye can among some 200,000 different colors.
(1) initiate

(2) authorize

(3) distinguish

(4) reinforce

4.  Most of the inhabitants of Tangier Island, Virginia, can
families who settled there in the seventeenth century.

their ancestry to Cornish

(1) thaw
(2) trim
(3) tilt

(4) trace

Copyright © by the National Institute for Testing and Evaluation. All rights reserved.

The test or any part of it may not be taught, copied or distributed in any form or by any means without written permission from the National

Institute for Testing and Evaluation.

b e N N N N N N



b N e N N N N

English - Second Section -100 - Spring 2019

A baby mammoth — possibly the best preserved
unearthed in northwestern Siberia.

of its type — was recently

(1) reprimand
(2) specimen
(3) incentive
(4) aptitude

An employee who is
insurance benefits.

for gross misconduct may not be entitled to unemployment

(1) prohibited
(2) exploited

(3) interrupted
(4) dismissed

A is a formal agreement between two or more sovereign nations.

(1) drawback
(2) convent

(3) prospect
(4) treaty

With its golden mosaics, polished stone panels, and marble pavements, San Marco
Basilica in Venice is among the most decorated churches in Europe.

(1) lavishly
(2) earnestly
(3) furiously
(4) acutely
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Restatements (Questions 9-12)

This part consists of several sentences, each followed by four possible ways of restating the
main idea of that sentence in different words. For each question, choose the one restatement
which best expresses the meaning of the original sentence.

9.  When a hippopotamus senses danger, it makes a mooing sound.

(1) The hippopotamus moos, especially when it is afraid.

(2) The hippopotamus moos when it feels threatened.

(3) The hippopotamus moos before it attacks.

(4) The hippopotamus moos to warn other animals of danger.

10. "Never let a good crisis go to waste." (Winston Churchill)

(1) Face your problems bravely.

(2) Never stop believing that there is good in the world.

(3) Do not waste time trying to accomplish the impossible.

(4) Take advantage of the opportunities provided by difficult situations.

11. The Phoenicians were expert seafarers.

(1) The Phoenicians spent most of their time at sea.
(2) The Phoenicians were experienced fishermen.
(3) The Phoenicians were very skilled sailors.

(4) The Phoenicians fought many battles at sea.

12. When Pablo Picasso's painting Garcon a la pipe was sold at auction in 2004, it fetched
an unprecedented 104 million dollars.

(1) Pablo Picasso's Gar¢on a la pipe was sold in 2004 at auction for 104 million
dollars — at the time, the highest price ever paid for a painting.

(2) Gargon a la pipe is the most valuable of Picasso's paintings: it sold for 104 million
dollars at a 2004 auction.

(3) Itis estimated that Pablo Picasso's Gar¢on a la pipe, sold at auction in 2004, is
worth over 104 million dollars today.

(4) At an auction in 2004, bidding for Pablo Picasso's Gar¢on a la pipe began at a
record-breaking 104 million dollars.

N N e N N N N
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Reading Comprehension
This part consists of two passages, each followed by several related questions. For each
question, choose the most appropriate answer based on the text.

Text I (Questions 13-17)

1) With the advent of Amazon.com and other internet bookstores, the business of
bookselling has been turned on its head. Nevertheless, traditional bookshops are far
from extinct. Many are thriving, particularly those offering lectures, writing workshops,
or other literary activities. Nowhere is this more evident than in the Pioneer Valley, the

5) region that straddles both sides of the Connecticut River as it meanders through western
Massachusetts.

A visit to the Pioneer Valley is a veritable pilgrimage for bibliophiles. The area
abounds in bookshops, where people not only can purchase books but can also enjoy the
company of other book lovers. A typical outing might include browsing in a dusty

(10)  second-hand bookshop, attending a poetry reading or a class on bookbinding, or
chatting with an author while buying a signed copy of his or her work. Nat Herold, who
has been selling books for over thirty years, hosts as many as fifteen author nights a
month. The bookcases in his store, Amherst Books, are on wheels so they can be
pushed out of the way to make room for up to a hundred folding chairs.

(15) Writers as well as readers contribute to the region's remarkable book culture. New
writers are always arriving in the Valley, increasing the ranks of a surprisingly large
number of local authors. The Amherst Books website features over 150 books by
contemporary local writers, and the list is continually updated. Books by these writers
are displayed prominently in shop windows, proudly bearing the sticker "Local Author".

(20 The Pioneer Valley has been home to some of the most noted writers in American
literature, from the eminent nineteenth-century poet Emily Dickinson to the beloved
twentieth-century children's author Theodor Geisel, better known as Dr. Seuss. Perhaps
this is why the Pioneer Valley has become one of the most author-saturated, book-
cherishing, literature-celebrating places in the United States. For Bonnie Isman,

(25)  director of Amherst's Jones Library, the explanation is much simpler: books are just
what people in the Pioneer Valley do for fun.

Questions
13. An appropriate title for this text would be -

(1) The Pioneer Valley: A Book Lover's Dream

(2) The Pioneer Valley's Most Eminent Authors

(3) The Pioneer Valley: The Birthplace of American Literature
(4) The Pioneer Valley's Literary History
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14.

"Nevertheless" (line 2) could best be replaced by -

(1) Although bookselling has changed greatly in recent years
(2) Because Amazon.com has become so successful

(3) As aresult of the growing number of internet bookstores
(4) Despite the fact that fewer people read books today

15.

The main purpose of the second paragraph is to -

(1) introduce the Pioneer Valley's most famous bookshop

(2) explain what attracts book lovers to the Pioneer Valley

(3) discuss changes in Pioneer Valley bookshops over the past thirty years
(4) describe a typical bibliophile

16.

Which of the following details about the Pioneer Valley's authors is not mentioned in the
third paragraph?

(1) Some of them were born in other places.

(2) Their books are listed on the Amherst Books website.
(3) Many of them write about life in the Pioneer Valley.
(4) They have the support of local bookshops.

17.

The last paragraph mentions Emily Dickinson because she -

(1) wrote poems about the Pioneer Valley

(2) was the first to use the name "Pioneer Valley"
(3) is an example of a great Pioneer Valley writer
(4) made the Pioneer Valley famous
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Text II (Questions 18-22)

(1) The Iroquois Confederacy or, as its members prefer to call themselves, the
Haudenosaunee (People of the Longhouse), is a political alliance of six Native
American tribes. Like other native peoples of North America, the [roquois were key
figures in the region's development and greatly influenced early North American history.

5) Iroquois women, for example, have long been a source of interest and inspiration to
women's rights activists. Indeed, 19th-century American feminists such as Elizabeth
Cady Stanton and Lucretia Mott explicitly cited the model of Iroquois women in their
campaign to achieve equality between the sexes. At a time when women in the Western
world were regarded as weak and inferior to their male counterparts, Iroquois women
(10)  were both respected and powerful.

Women played a pivotal role in Iroquois society. Each of the six Iroquois tribes was
divided into several clans (named after animals such as bear, turtle, and wolf), each of
which was headed by a "clan mother". The tribes were matrilineal: after marriage, a
man joined his wife's family and their children became members of her clan.

(15) Together, the clan mothers made up the powerful Clan Mothers' Council, which was
responsible for appointing the sachem, or tribal leader. While only a man could become
the sachem, it was the women of the Clan Mothers' Council who elected him and who
had the power to replace him if his behavior displeased them. Furthermore, the Council
divided up the land of the predominantly agricultural Iroquois, determining which

20) tracts of land would be allocated to whom.

Questions

18. It can be inferred from the first paragraph that "Haudenosaunee" is -
(1) a Native American word
(2) atribe that no longer exists

(3) the name of an Iroquois language
(4) one of six important Native American tribes
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19. The main purpose of the second paragraph is to -
(1) introduce the work of Elizabeth Cady Stanton and Lucretia Mott
(2) describe the struggle for equality among Iroquois women
(3) explain why the Iroquois way of life inspired American feminists
(4) discuss the status of American women in the 19th century
20). The phrase "cited the model of" (line 7) is closest in meaning to -
(1) worked along with
(2) fought for the rights of
(3) criticized
(4) used the example of
21. Based on the description of a matrilineal society in lines 13-14, which of the following
statements might be made by an Iroquois man?
(1) My mother is of the turtle clan and my wife is of the bear clan; therefore, my son is
of the bear clan.
(2) My father is of the wolf clan and my wife is of the bear clan; therefore, my daughter
is of the wolf clan.
(3) My mother is of the turtle clan and my wife is of the bear clan; therefore, my son is
of the turtle clan.
(4) I am of the turtle clan and my wife is of the bear clan; therefore, my daughter is of
the turtle clan.
22. An appropriate title for this text would be -

(1) Women in Iroquois Society

(2) Troquois Influence on 19th-Century American Feminists

(3) The Role of the Iroquois in Shaping North American History
(4) Iroquois Tribes and Clans
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Spring 2019

EXAMPLE OF A STRONG ESSAY

As Jaopu[ation growtﬁ ex]afocfes across the world, and
paﬁicufar@ Israel, the question cf ﬁousing ever-growing
popu[ations in a stagnant area is 6ecoming much more Jm’essing,
In Israel, there is a ]aroposa[ to ban construction (f sing[e and
two story houses in cities. While many yeopfe oﬁjec’r to this
proyosaﬂ it s tru(y the on[y way to ensure that the State (f

Israel has sustainable and resyonsiﬁfe ﬁousing ]oo[icies,

Opponents of this policy bring several arguments as to
why this policy is wrong. One such reason is the freedom to
choose. ﬂ-[igﬁ-rise buildings offer less space, less privacy, and
[ittle opportunity for outdoor recreation. They also rightfully
claim that in some urban situations, construction cf this nature
is cfamaging to the character of the city. For examjafe the Old
City cf Jerusalem. While these arguments are wortﬁy of
sympathy, and not factually incorrect, they do not provide a
comprehensive answer to the fact that Israel is on the verge of a

ﬁousing Crisis.

To start, the main argument against a ﬁigﬁ-m’se Jooficy is
reduced quafity cf ﬁfe. The main reason that this is incorrect is
sefﬁevicfent: Around the world, hundred of millions, 1f not
billions, of Jaeop(e [ive in urban ﬁousing, and Ey choice. The
correct way to alleviate this concern is proper planning and
investment. Proper precautions need to be taken for each
concern - buildings need to be designed and built according to

industry best practices, both so as to be safe and to maximise

Copyright © by the National Institute for Testing and Evaluation. All rights reserved.
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the cfﬁciem use of space, to make such [oc@ing fee[ [ess cmmjoea[,
Recreation can be Jorow’c{ed’ Ey frequenr city Joarﬁs, to allow
qm’cﬁ and near access to all residents. CPm}aer insulation and
sound }arooﬁ’ng do away with jarivacy concerns. Above all,
cmyﬁoc[y unsatisfied’ with these conditions could move to nearﬁy

Yishuvim, and have whatever residence tﬁey yfease,

The concern about the impropriety qf tall Euifc{ings in
unsuitable locations is also a non-issue. Any Jooficy regarcfing
such an issue would obviously take into account such items, and

allow the historical character of cities to remain untouched.

Israel is uncfergoing a Jaqpu[ation boom, with the eigﬁt
and a ﬁagf million Joecyﬂfe now expectec( to become ten million in
twenty years, and the facifities to house these soon-to-be ]Jecyofe
do not exist. Those who have seen urban symw( in America
and Furope can testify to the Beautifu[ nature cf the Israeli
[anc[scajﬁe, and it would be a shame to cfestroy it, not to mention
futi[e, given the land's fim’te nature. Those who oppose
requiring the Euifcfing of on[y tall Euifaﬁ’ngs in cities oﬁ[er
excuses and concerns - but tﬁey oﬁ(er no concrete sustainable

SO[utiOTleOT’ tﬁefuture cmcf tﬁeir concerns are Teasonaﬁfy

alleviated.

Given this crisis, the onfy way to yrovidé ﬁousing for the

b N e N N N

future is to regufate space and make maximum use cf every
Joarcef cf land. At the end cf the cfay, up is the on@ way to go,
and city construction should be l[imited to ﬁigﬁ rise Euifofing
onfy.

Copyright © by the National Institute for Testing and Evaluation. All rights reserved.
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EXAMPLE OF AN ADEQUATE ESSAY

In the recent decades, as Israel’s Jooyu[ation has increased,
more and more of the open spaces and natural scenery in and
around cities have become built up. Some }oeoy[e claim that this
trend must be stcyojoeaf and their should be a ban on Eui[c[ing
low rise ﬁousing in cities. ‘T ﬁey recommend that Jofans for
sing[e or two story houses in cities should not get a]o]orovec[.
Instead tﬁey suggest to build on[y ﬁigﬁ rise projects which can
prow’c[ ﬁousing for many more }oeqpfe ina re[ative[y small area.
7 do not support the recommendation to ban construction of low

rise ﬁousing in cities.

Firstly, people that want to build their own private home
and don't want to [ive in a building will not be able to an in a
way takes away ones freedom of choise. They will not have the
option cf Euifcfing their own private house instead tﬁey will have
to buy or rent an aprtment that someone else built and they

may not like it.

In addition, some cf the ﬁigﬁ rise Jorcy'ects do not have
elevators and old Jaeoy(e will not be able to live their.

Moreover, these ﬁigﬁ rise }orojects Ering alot more }oo(ution
to the environment then the small houses since there are a lot of
}oeqpfe ﬁving ina confineaf space and tﬁey all use eléc’m’sity and
heat.

b N e N N N

Teop&e that support this claim to ban low rise ﬁousing n

cities recommend Bui[d’ing ﬁigﬁ rise ﬁousing in order to "save

Copyright © by the National Institute for Testing and Evaluation. All rights reserved.
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more spots" for the future jaeopfe that will be born so that we
don't run out of ﬁousing space. This claim can be denied By the
simjo[e fact that we have a lot of space [eft for ﬁousing,

In conclusion due to the reasons listed above and mainly
the reason that people want their own private house and not to
[ive in a Euifc(ing with other Joeoyfe, 7 cﬁsagree with the
recommendation to ban construction of low rise housing in

cities.

i U N N e N N
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EXAMPLE OF A WEAK ESSAY

In recent decades the studies show that Israel's jzopu[ation
has increased and continue to increas. This }oopufam’on raise
causes environmental Joofun’ons, ‘Because cf the construction in
the cities the eﬁcienr land can be used for agn’cu(ture is

coroptea[ But there is a[ways a solution for })roﬁfems [ike this.

For some people best solution is to make a complete ban
on thise constructions. T ﬁey recommend that Euifcﬁng ﬁigﬁ rise
projects can provide housing for many citizens in a relatively
small area. Thise types of builds will effect the proportion of the
city it self because of the high buildings and skyscarpers.
Furthermore thise buildings can harm the land that the
building built on. If we look at a longer time period thise

construction will cause a jao[ution.

Tersona[y 7 do not totafy agree to approve to ban
construction of rise ﬁousing in cities. The Jmfect solution is
ja[an the cities for not to harm any land and also jﬁrow'cfe builds
that most Jacyau(ation can live in _peace. Moreover cities should
have capasities fm’ jocyoufation and there should be a law that
cities can't contain citizens ﬁigﬁer than thise capasities. And

tﬁe (cmcfit Sé(fSﬁOU[C[ 66 c[eanec[ana[smy not ﬁarmec[. ﬁncftﬁe
j?@(ﬂﬂ[@ 66 ecfucatec[.
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Answer [Key

Spring 2019
Verbal Reasoning - First Section
question number 1 2 (3| 4|56 |7 10|11 |12 (13|14 |15|16 |17 | 18 | 19 | 20
correct answer 4 3 4 4 3 3 3 4 2 1 2 4 1 4 3 2 1
Verbal Reasoning - Second Section
question number 1 2|3 |4 )|5|6|7 10 (11|12 |13 |14 |15 (16 |17 | 18 | 19 | 20
correct answer 1 2 4 1 4 | 2 1 4 1 2 4 2 1 1 4 1 2
Quantitative Reasoning - First Section
question number 1 2|3 |4 )|5|6 |7 10 (111213 |14 |15 (16 (17 | 18 | 19 | 20
correct answer 2 | 4 1 4 3 3 3 3 1 4 1 4 3 3 1 4 1 2
Quantitative Reasoning - Second Section
question number 1 2 (3| 4|56 |7 10|11 |12 (13|14 |15|16 |17 | 18 | 19 | 20
correct answer 4 | 2 3 2 1 4 3 1 2 4 2 2 3 3 3 2 1 4
English - First Section
question number 1 2|3 |4 )|5|6|7 10 (11|12 |13 |14 |15 (16 [ 17 | 18 | 19 | 20 | 21 | 22
correct answer 3 3 1 1 2 (4| 4 2 1 4 3 3 2 3 4 | 4 2 1 3 4
English - Second Section
question number 1 2|3 | 4|56 |7 10 (11|12 |13 |14 |15 (16 (17 | 18 | 19 | 20 | 21 | 22
correct answer 4 | 4 3 4 2 14| 4 4 3 1 1 1 2 3 3 1 3 4 1 1
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CALCULATING ESTIMATES OF TEST SCORES
Spring 2019

An explanation and an example of how to estimate your scores on the test appears below.

You can calculate estimates of your scores in each of the test domains — Verbal Reasoning, Quantitative
Reasoning and English — as well as estimates of your General Psychometric Test scores, which are based
on your scores in these three domains.

CALCULATING YOUR RAW SCORES IN EACH OF THE TEST DOMAINS

Each correct answer is worth one point. To calculate your raw scores, add up the total number of points
you obtained in each of the three test domains (there are two sections for each of the Verbal Reasoning,
Quantitative Reasoning and English domains). At the end of this stage, three raw scores will be obtained:
araw score in Verbal Reasoning, a raw score in Quantitative Reasoning, and a raw score in English.

CALCULATING YOUR STANDARDIZED SCORES IN EACH OF THE TEST DOMAINS

Each raw score is then converted to a score on a standard scale, that is, a score that is not affected by the
particular test version, language or date. You can find your standardized scores on the Table for Converting
Raw Scores to Standardized Scores shown below.

At the end of this stage, you will obtain estimates of your standardized scores in the three test domains
(on a scale ranging from 50 to 150):

a Verbal Reasoning score (V), a Quantitative Reasoning score (Q), and an English score (E)

Table for Converting Raw Scores to Standardized Scores in Each of the Test Domains

Standardized Score Standardized Score Standardized Score

Raw Raw Raw

SCOe | verpal Quanti- | english SCOe | \erbal Quanti- | english SCOe | verbal Quanti- | english
0 50 50 50 15 82 89 87 30 122 126 115
1 51 52 52 16 85 92 89 31 124 129 117
2 53 54 55 17 87 94 91 32 127 131 119
8 55 57 58 18 90 97 92 B8 129 134 120
4 57 60 61 19 92 99 94 34 132 136 122
5 59 63 64 20 95 102 96 35 134 139 124
6 61 66 67 21 98 104 98 36 137 141 126
7 63 68 69 22 101 107 100 37 140 143 128
8 65 71 72 23 103 109 101 38 143 146 131
9 67 73 74 24 106 112 103 39 146 148 134
10 69 76 77 25 109 114 105 40 150 150 137
11 72 79 79 26 112 116 107 41 140
12 74 81 81 27 114 119 109 42 143
13 77 84 83 28 117 121 111 43 146
14 79 86 85 29 119 124 113 44 150

The method for calculating an estimate of scores, as described below, does not take into account
the score on the writing task. The calculation is based on the assumption that the level of ability
demonstrated in the writing task is similar to that demonstrated in the multiple-choice sections of the

Verbal Reasoning domain.
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ESTIMATING YOUR GENERAL SCORES

In order to estimate your general scores, first calculate your weighted scores.

m  Multi-Domain General Score: The scores in the Verbal Reasoning and Quantitative Reasoning domains

receive twice the weight of the English domain score. The calculation for the weighted multi-domain score

. 2V+2Q+E
is =5 .

m  Humanities-Oriented General Score: The weight of the score in the Verbal Reasoning domain is

three times the weight of the other scores. The calculation for the weighted humanities-oriented score is

3V+Q+E
I

m  Sciences-Oriented General Score: The weight of the score in the Quantitative Reasoning domain is three

times the weight of the other scores. The calculation for the weighted sciences-oriented score is

3Q+V+E
s

TABLE FOR CONVERTING WEIGHTED SCORE TO GENERAL SCORE ESTIMATE

Weighted Estimate of General Weighted Estimate of General
Score Score Score Score
50 200 101-105 504-531
51-55 221-248 106-110 532-559
56-60 249-276 111-115 560-587
61-65 277-304 116-120 588-616
66-70 305-333 121 -125 617-644
71-75 334-361 126-130 645-672
76-80 362-389 131-135 673-701
81-85 390-418 136-140 702-729
86-90 419-446 141-145 730-761
91-95 447-474 146-149 762-795
96-100 475-503 150 800

EXAMPLE OF HOW TO CALCULATE AN ESTIMATE
OF YOUR SCORE

Assume that your raw scores in the test domains
are as follows:

34 correct answers in Verbal Reasoning (total of
the two sections);

19 correct answers in Quantitative Reasoning
(total of the two sections);

28 correct answers in English (total of the two
sections).

Based on the table found on the previous page:
The estimate of your standardized score in
Verbal Reasoning is V = 132

The estimate of your standardized score in
Quantitative Reasoning is Q = 99

The estimate of your standardized score in
Englishis E=111

The calculation of your weighted scores is shown
in the box to the right.

The weighted multi-domain general score is:
(2-132)+(2-99)+ 111

=114.6

5
This weighted score is found in the above table in the
111-115 range, and the corresponding general score
is in the 560-587 range.

The weighted humanities-oriented general score is:

(- 139)+99+111 _

5
This weighted score is found in the above table in the
121-125 range, and the corresponding general score
is in the 617-644 range.

The weighted sciences-oriented general score is:

3-99)+132+111 — 108

5
This weighted score is found in the above table in the
106-110 range, and the corresponding general score
is in the 532-559 range.
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CONVERTING YOUR SCORE INTO PERCENTAGES

The table for converting score ranges into percentages, which appears below, helps you understand the
significance of the scores you obtained. The table is divided into 17 categories of score ranges. The
percentage of examinees whose score is below, within and above the range is given for each range. For
example, a general score of 518 falls in the 500-524 range, and this means that approximately 40% of
examinees scored below this range, approximately 7% scored within this range, and approximately 53%
scored above this range.

The division into categories is solely for illustrative purposes, and does not reflect the admissions policy
of any institution. The conversion of the scores into percentages is based on the entire population of
Psychometric Test examinees in recent years.

TABLE FOR CONVERTING RANGES OF SCORES INTO PERCENTAGES

Percentage of Examinees Whose Score Falls
Score Range
Below the Within the Above the
Range Range Range
200 - 349 0 6 94
350 - 374 6 4 90
375 - 399 10 5 85
400 - 424 15 5 80
425 - 449 20 6 74
450 - 474 26 7 67
475 - 499 33 7 60
500 - 524 40 7 53
525 - 549 47 7 46
550 - 574 54 7 39
B = BIEfS) 61 7 32
600 - 624 68 8 24
625 - 649 76 7 17
650 - 674 83 6 1
675 - 699 89 5 6
700 - 724 94 3 3
725 - 800 97 3 0

Copyright © by the National Institute for Testing and Evaluation. All rights reserved.
The test or any part of it may not be taught, copied or distributed in any form or by any means without written permission from the National
Institute for Testing and Evaluation.

/

122



	Structure Bookmarks
	© Copyright © by the National Institute for Testing and Evaluation.  All rights reserved.  The test or any part of it may not be taught, copied or distributed in any form or by any means without written permission from the National Institute for Testing and Evaluation. Psychometric Practice Test COMBINED / ENGLISH Spring 2019 




